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Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 545927565
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 5459279495 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the term that will corme next in the fOllOWiﬂg Series.

ABC, FGH, KLM, POR,
Options:
1.9 UVw

2. % TUV
3% VW
4. ® TUW

Question Number : 1 Question Id : 5459279495 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AREAT H STTAT T STAT U T =40 3

ABC, FGH, KLM, POE,
Options:

I R VATATH

2. % TUV

3% VWE

4 % TUW

Question Number : 2 Question Id : 5459279496 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the term that will come next in the following series.

Options:
1.v D
2 % E
3. %F
4 %

Question Number : 2 Question Id : 5459279496 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
AREAT H SITTAT T ATAT U, T =20

Options:



1.¥'D
2 ®E
3 ®F
4 % C

Question Number : 3 Question Id : 5459279497 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the term that will come next in the following series.

AL, D 19, P1E, V25, J36,
Options:

1. % 11449

2. % 49

2% V49

4. ¥ W49

Question Number : 3 Question Id : 5459279497 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT H SITTAT 3T ST U, 7 =20 &)

Al D4, 19 P1E, ¥25, |36,
Options:
1. % 1J449

2. % ¥49
3% W49
4. ¥ W49

Question Number : 4 Question Id : 5459279498 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Cut of the given options, three are simmilar in a certain manner. However, one option is MOT like the other three,
Select the option which is different from the rest.

Options:

1. % Eat

2. % Eall

2. % Stumps
4 ¥ Player

Question Number : 4 Question Id : 5459279498 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

%qrr%ﬁfﬁﬁﬁﬁ A T TS FF & T 8 §IAT, U [dded ST o 4 o1 a¥g Agl 51 99 e @1 oa & o1 9Tl &
STEATT

Options:
1. % oo
2 ® 1ig

o ¥



4, ' AT

Question Number : 5 Question Id : 5459279499 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given options F pair of words are similarly related and one pair is differently related. Find the pair
which is differently related.

Options:

1. * Bat: Ball

= % Cup: Saucer
2. ¥ Disk: Floppy

4. % Remote: Battery

Question Number : 5 Question Id : 5459279499 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ﬁqmg’?‘:ﬁﬁﬁmﬁfﬁS ST FATT & o T80T 5, 7 U AIST a0 90 & Gaied 81 IF A= & A9 B AT AT g o

Options:

1. % geam T

2. % . e
5. o TZw wATr
4. % @\ «=

Question Number : 6 Question Id : 5459279500 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the set of words that are analogous to the given set of words.

Drawer : Wardrobe - Roorm
Options:

1. ¥ Thread : MNeedle : Machine
Z % Lace: Left Shoe : Right Shoe
Z. #* Spoon : Fork : Knife

4. % CD: Floppy : Drive

Question Number : 6 Question Id : 5459279500 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
I Aegl F HT T I B AT Aeg] o 7 T HE & 7€ o)

T | ST AT
Options:

1. emm ge: mee

2 ® o S ST g ST
3. ® guw  wRT O

4. ® HET TANE ZET

Question Number : 7 Question Id : 5459279501 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
Find the pair of words that is analogous to the given pair.

Tea : Coffee

Options:

1. % Doctor: Medicine
2. % Bat: Ball

2. ¥ Laptop: Tablet
4. % Door: Key

Question Number : 7 Question Id : 5459279501 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
I eat F ST B AT T S TE AL I argEr

=T ; I
Options:

1. % Eisoaa =ar
2. Haﬁﬂﬂﬁ

3. ¥ AT el
4 % ZTgrT Aret

Question Number : 8 Question Id : 5459279502 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the given options can be a part of the group to which the given words belong?

Nokia, Samsung, Apple
Options:

1. # Galaxy

2. % MacBook

3. % jPad

4. % OnePlus

Question Number : 8 Question Id : 5459279502 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Torr Ty Termeat | W AT Sy 39 TUE W BAT 5 AT 5 MaH [ T e 27

Options:

1. % sarsm
2 % Awagw

z ® amites

4 % gt

Question Number : 9 Question Id : 5459279503 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Select the set of words that are analogous to the given set of words.

Tea : Mill : Sugar

Options:

1. % Story - Characters : Plots
2. % Milk : Sugar : Water

3. % Class : Cycles : Students

4. % Maths : Hindi : English

Question Number : 9 Question Id : 5459279503 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T Aeal & W W I FE AT Aeg ] o T T AT F ST 3

Em:r:g%r:fﬁ:ﬁ
Options:

1. ¢ @t U e
2. % gar =T o
3 ® wyT A@ER B
4, % it TEEr: ST

Question Number : 10 Question Id : 5459279504 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Inna coding systerry, 1257 15 coded as 24638 In the same systerr, how 15 2468 coded as?

Options:

1. ¥ 3579
2 % 3571
3. % 9357

4 % 1357

Question Number : 10 Question Id : 5459279504 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
U RIS WTAT H, 1357 & 2468 & &0 H ®iiSd a1 T 51 I61 ATe! #, 2468 F 9 FiSd A

Options:

1. 3579
= % 3571
3. % 9357
4 ® 1357

Question Number : 11 Question Id : 5459279505 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If in a certain code, EROOM is coded as EURRF, then how is EURRFP coded?

Options:
1. ® H{UUER

2. ¥ HHUUS
3. % HEVVS



4. * GHUUS

Question Number : 11 Question Id : 5459279505 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
i U@ T Fig §, EROOM ®TEURRP & ®1 0 #iiEd & a1 §, 91 EURRF & 3 ®iEd ferar A

Options:

1. % HXUUR
2. ¥ HHUUS
2% HEVVE
4. % GHUUS

Question Number : 12 Question Id : 5459279506 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If CAT = 60, DART = 1440, then how much is EART equal to?

Options:

1. % 260
2. % 480
2. % 540

4. % 720

Question Number : 12 Question Id : 5459279506 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

g CAT = 60, DART = 1440 §, 9T BART T+ & avTar &7
Options:

1. % 260

2. % 480
3. % 540
4 ¥ 720

Question Number : 13 Question Id : 5459279507 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

¥ remembers that his mother's birthday falls after August 8th but before August 20th. His sister, ¥,
rermermbers that her mother's birthday is after 18th August but before August 28th. When is the mother's
tarthday™

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.

Options:

1. 43695

2 43696

3. 43697

4. 4z3695

Question Number : 13 Question Id : 5459279507 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



X @ 1 7 1o IO OTaT 0 Al 8 ST o d1g ot 20 ST | U5 U247 5] S9! a5 ¥ &1 TS 5 10 Jee! AT &7
AATET 15 ST & ola, /e 25 37T & Ugel 51 ATGT &1 A-ATGH ol 57

Note: For this question, discrepancy is found in question/answer. So,this question isignored for all
candidates.

Options:

1. 18 aed

2. 19 aeEq

3. 20 T

4. 21 S

Question Number : 14 Question Id : 5459279508 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

According to the examination results of a Class, X ranked 11th from the top and 20th from the bottom
amongst those who passed the examination. & students did not gave the examination whereas 4 failed in it
Howr miany students are there in the Class?

Options:
1. % 49
2 % 51
R
4 % 52

Question Number : 14 Question Id : 5459279508 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

wmmaftr&mtr&mﬁﬁmgm T H I g aret H ¥ S & 11 & ofie A & 30 3 s ow om 6 g7t o merT JEi o
AT 4 TAH WG Tol FHT A [ha- 713 57

Options:
1. % 49
2. % 51
2. ¥ S0
4 % 52

Question Number : 15 Question Id : 5459279509 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A, B, C, D, EandF are £ people in a meeting. & and D are from Chennai while the others are from Muwmbai. B
and D are tall while the others are short. B, © and E are males while &, D and F are fermales. Who is the tall
male from Mumbai?

Options:

1. % 4

2 ¥ E

2R C

4. % D

Question Number : 15 Question Id : 5459279509 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
4 B C D ESRFUFSSF HE A H & oKD I8 € F Tl o0 §ag 9 31 B 3 D &l § Faior e 518 81 B, C 3K E 729
% Aaier &, D 37 F WigaT 8 4o & Fall J27 & 57

Options:




1. % 4
2. ¥ B
3% C
4 D

Question Number : 16 Question Id : 5459279510 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

wE AT AR A ﬁﬁﬁ@rswra%a—qs%}mmﬁ%ﬁ. B ¥ 3 it 3512 w@ir B, C ¥ Sw wRm 31 B, F 5t o 35T
e FUFH TR D, C ¥R

Options:

1.9 T

2. % Zigo

3 % gw-yd

4. % Figor-ubEm

Question Number : 16 Question Id : 5459279510 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Six people are sitting in a garden with 3 of them facing the other 2. A is sitting to the north of BE whereas B is to
the irmediate west of C. E sits across F who sits to the east of C. In what direction does D sit with respect to C7

Options:

1. ¥ MNorth

2. % South

2. % DMNorth-East
4 % South-West

Question Number : 17 Question Id : 5459279511 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& worman says to another, you are the daughter of my husband' brother's mother's husband. How are the
wWOITIED related?

Options:

1. % Sister
2% Aunt

3. % Daughter

4 % Sister-in-law

Question Number : 17 Question Id : 5459279511 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e AT gAY & wEdt B, g A Ui A T o T T A A8 € wigamsit # afe-ar T #7
Options:

1. % &gd

2 ® ol

3 ® et

4 & T



Question Number : 18 Question Id : 5459279512 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The statements below are followsad by two conclusions labelled [ and II - Assurmning that the information in the
staternents is true, even if it appears to be at variance with reality, decide which conclusion(s) logically and
definitely follow(s) from the inforrmation given in the statermnents.

Staternents:
All pericils are pens.
SOITIE erasers are pencils.

ConclusSions:
[. SOIme erasers are pers.
[1. Sorme pens are erasers.

Options:

1. % Only conclusion I follows.

2. % Only conclusion 1T follows.

2. ¥ Both conclusions I and 11 follow.

4 % MNeither conclusion I or IT follows.

Question Number : 18 Question Id : 5459279512 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
et Tar T st # 1 AT 1L o 2 T dee T T g agnmﬁggﬁﬁwﬁﬁ&ﬂéqﬂwﬁwa el 51 9 aTeq awar &
AT W 1 5, Tl of o wia-ar e aiiher o & Toam men § o Wi &0 & wenl § S 18 S T S AT bl

CRUE
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Termep:

RuAEL

Options:

1. % crerel Tepd 1 STeRoT a3l

2. % o Tma 11 SIgER FaT gl

3. 1 Tmere 1 ST 11 arge @ 8l
4 % T TAmEY 1 AT e T o)

Question Number : 19 Question Id : 5459279513 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The statements below are followead by two assurmptions labelled I and I . Assuming that the information in the
staternents is true, even if it appears to be at variance with reality, decide which assumption(s) logically and
definitely valid from the information given in the statements.

Staternents:
Sore waater 15 polluted.
Follution 15 caused by dirt.

ASsurmptions:
. People throw dirt in the water.
II. Factories release dirt i the water.

Options:
1. % Cnly assumption [ 15 valid



2. % Only assumption [1 is valid
2. ¥ Both assumptions are valid

4. % peither assumptions are valid

Question Number : 19 Question Id : 5459279513 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
et Tar T st #1 ST 11 dae aret 27 R0 8 95 A B0 T et # 1 TE AEe 9o 5, ol 51 O dTedicddT | e
Tt 21, Tt & foF @ § S 7 A= aiii o F A = AT 71

CRUE
T ]

[T

1. 0T o1 # et thard Bl

11, Tierea o=t | nigrft giedt 31
Options:

1. % had eI A E

2, % e aROT Il A

3. o g AR AT B

4, % FHE AT g AR AT E

Question Number : 20 Question Id : 5459279514 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which two signs shiould be intercharnged to malke the below equaticn mathernatically correct?

18 xe+9+2-25=5C
Options:
1% »,+
2 9w -
W 4 -
4 % — 4+

K

Question Number : 20 Question Id : 5459279514 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
R T T T S T € Wl e o ey, T o gl @ I S g AT =Ry

lExE+39+2-25==C

Options:
1. % »,+

2 W -
3%+, <
4. % _ 4

Mental Alility 2

Group Number : 2
Group Id : 545927472



Group Maximum Duration : 0

Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Mental Alalitye
Section Id : 545927472
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 545927566
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 5459279515 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Cornplete the following number series?

10000, 2000, 500, 450, 234, 234,
Options:

1.9 4808

2. % 4408

3. % 4508

4. % 434

Question Number : 21 Question Id : 5459279515 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

10000, 2000, 300, 450, 384, 354,
Options:

1.9 4608

Z % 4408

3. % 4508

4. % 474



Question Number : 22 Question Id : 5459279516 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the numbers should be interchanged so as o make the equation correct?

497+ 144+25-27=0
Options:

1.9 14, 435

2. % 25 27

2% 25 49

4 % 27 14

Question Number : 22 Question Id : 5459279516 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A9x7F+144+25-27=0
Options:

1.9 14, 45

2. % 25 27

3. % 25 49

4 % 27 14

Question Number : 23 Question Id : 5459279517 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ot of the given options, three are similar in a certain manner. However, one option is NOT like the other three.
Select the option which is different from the rest.

Options:
1. % 125
2 ¥ 216
3% 243
4 % g

Question Number : 23 Question Id : 5459279517 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

%qn%ﬁaﬁ—nﬁﬁﬁ 1 Ter TS Fir & TR 2 §TAT, U [ded ST o 4 o aXg Agl 51 39 e 7 = & AT aTeel &
STETT

Options:
1. % 125

2 ¥ 218
3. % 343
4 ® 3

Question Number : 24 Question Id : 5459279518 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Find the incorrect term in the following series:

10, 10, 10, 20, 60, 240, 2400, 21200
Options:

1. % 20

2. % B0

3. ¥ 240

4 % 31200

Question Number : 24 Question Id : 5459279518 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TrRA T 43FAT § AT U, AT &)

10,10, 10, 20, 560, 240, 2400, 21200
Options:

1. % 20

2. % B0

3. ¥ 240

4 % 321200

Question Number : 25 Question Id : 5459279519 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Cut of the given nurmber pairs, three are similar in a certain manner. However, one pair is NOT like the other
three. Select the pair which is different from the rest.

Options:

1. % g64:512
2. % 25125
3. ¥ 49:280
4 % (39375

Question Number : 25 Question Id : 5459279519 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Eqw%wqﬁ%ﬁﬁﬁ I wer TS FO0F | TR 2 STATE, U A1ST 3 919 &1 908 721 ol 39 AT FT =4 F A7 a1t
AT

Options:

1. % 54512
2. % 25125
3.9 49280
4 % (39375

Question Number : 26 Question Id : 5459279520 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the option that relates to the third term in the same way as the second term relates to the first term.

Zl: 28427
Options:



1. % 43
2. ¥ 58§
3. % 53
4. % 35

Question Number : 26 Question Id : 5459279520 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
9 oo @7 e B ST 6 UG IE FR | Haled e WE E UgET U gud U o Helldd gl

21: 254207
Options:
1. % 435
2 ¥ 5g
3. % B3
4 % 35

Question Number : 27 Question Id : 5459279521 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the set of nurnbers that is similar to the given set.

(5, 25, 75
Options:

1.9 (4, 18, 48)
2. % (3, 32, 64)
3. % (4, 18, 64)
4. ® (3, 64, 96)

Question Number : 27 Question Id : 5459279521 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
I FETel & AHE AT B AT T T 6T & HHA 2

(=, 25, 75
Options:

1. ¥ (4, 16, 48)
= % (3, 32 64
3. % (4, 18, 64)
4. % (3, 64, 96

Question Number : 28 Question Id : 5459279522 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the option that can appropriately replace the 7'

3% + 4% + 59767
Options:
1. % =
R RS



Question Number : 28 Question Id : 5459279522 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
39 TEmeT @7 T @ AT I ' 7 E A o ae

3% + 4% + 59767
Options:

1. % >

2 ® <

39 =

4 %

Question Number : 29 Question Id : 5459279523 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the rmussing term in the fDllOWiﬂg Series;

2,04, 12,7, 240, 1440, 10050
Options:
1. % 20
2. % 36
2. % 54
4. ¥ 48

Question Number : 29 Question Id : 5459279523 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Trafe T el B 1 U &1 AT @)
2,4, 12,7, 240, 1440, 10030
Options:

1. % 20

2. % 36

2. % 54

4 ¥ 48

Question Number : 30 Question Id : 5459279524 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



In the following figure, triangle represents chef, square represents fathers, circle represents poets and
rectangle represents Americans. Which set of letters represents fathers who are poets?

—
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H }.,M_J,_/
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o

m

Options:

1. ¥ GECD
= % JBEC
3. % 1JKG

4. % FGK

Question Number : 30 Question Id : 5459279524 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. ¥ GKCD
2 % JBEC
3. % 1JKG

4. % FGK

Question Number : 31 Question Id : 5459279525 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich of the following Venn diagrams best represents the relationship between Rose, flowers and Lily?
Options:



Question Number : 31 Question Id : 5459279525 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:



Question Number : 32 Question Id : 5459279526 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A rman walks 50 m Morth, 20 m East and 50 m South. Lastly he walks 20 m West. In which direction is he from
the starting point?

Options:

1. * DMorth

= ¥ East

2. % DMNorth-East
4. % South-West

Question Number : 32 Question Id : 5459279526 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. % ¢

2 Vg
3 % gwm-md
4 ® gigm-uEm

Question Number : 33 Question Id : 5459279527 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In search of a treasure, a marn roams around on an island. He starts by walking East for 8 kmis and then goes
South for € kms. There he finds the treasure and wants to fo back to his starting point. What is the shortest
distarnce he should cover o reach the starting point?

Options:

1. % ckm
2 ¥ 10 km
2% Bk
4 % 14km

Question Number : 33 Question Id : 5459279527 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. # Bl

2. % 10 km
3. % 3km
4. % 14km

Question Number : 34 Question Id : 5459279528 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the option which completes the series given in the question figure.

A
X

S

A
®

©

X
A

Options:

X
e V

Question Number : 34 Question Id : 5459279528 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

X
e V

F A

4 &

Question Number : 35 Question Id : 5459279529 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the image that is related to the third image on the same basis as the second image is related to the first
irmage.
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Options:
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Question Number : 35 Question Id : 5459279529 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
I Fiel 1 T D AT AT Tl I AR Galred 5 e W | URel wie geel g & Helldd gl

® O.[VAV| [@ 0O,
: L
e © b 4D O

Options:
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.
e
1.9
SOP
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i
0o 0
Bl
3 %
v V
>~
A A
4 ®

Question Number : 36 Question Id : 5459279530 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

A figure series of & parts is given. Out these 4 parts are labelled A,E, C and D. One of these 4 parts is incorrect.
Find the incorrect part.

1] 1l I i [

Options:
1% 4
2 ® B
3V C
4 %D

Question Number : 36 Question Id : 5459279530 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1% 4
o % E
3 V¥
4 %D

Question Number : 37 Question Id : 5459279531 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

which of the following cubes in the answer figure CANMNOCT be made based on the unfolded cube in the
question figure?

Xepe

L/

A
“

Options:



1. ¢
o #
X'
.
T 4
1/
= W
L AL
L L
4 W

Question Number : 37 Question Id : 5459279531 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Xepe

L/

A
“

Options:

X

1.9
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3 %

L AL

L L
4 ®

Question Number : 38 Question Id : 5459279532 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
From the given answer figures, select the one in which the question figure is hiddern fembedded.

Options:




DK

LV
1
\

4

Question Number : 38 Question Id : 5459279532 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 39 Question Id : 5459279533 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& piece of paper is folded and punched as showr below in the question figures. From the given answer
figures, indicate how it will appear when opened.

Options:
NNz 4
TN
SRR
1. ¢
O
N7
AN
O O
> ®
L] O]
ADA
NN
L] <”> O
=3 kS

Question Number : 39 Question Id : 5459279533 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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O
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Question Number : 40 Question Id : 5459279534 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhat is the minirmum number of straight lines required to draw the given figure?

Options:



1. % g
2 % 10
3% 11
4. ¥ 12

Question Number : 40 Question Id : 5459279534 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0.25
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Options:
1.% 3
2 % 10
3% 11
4 9 12
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Group All Questions: No

Sub-Section Number: 1
Sub-Section 1d: 545927567
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 5459279535 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Keisabadi is a popular dance form of

Options:

1. % Gujarat

2. ¥ Cdisha

3. % Maharashtra
4. % Kerala

Question Number : 41 Question Id : 5459279535 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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3. ® WgRTE
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Question Number : 42 Question Id : 5459279536 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
____________ is a song used to mourn the death of the loved ones.

Options:

1. % EBanvarh
2. % Deknni
3. % Fughri
4. % Mando

Question Number : 42 Question Id : 5459279536 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. ¥ goamy
2. % Fepir

3 % I

4. % {Er

Question Number : 43 Question Id : 5459279537 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
Mahabalipuram Eathas is situated along the shores of the

Options:

1. % Atlantic Gcearn
2. % Arabian Sea
3. % Indian Ocean

4. % Bay of Bengal

Question Number : 43 Question Id : 5459279537 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. ¥ sEAdd AgENT

2. % aNE |

2 ® fggugErT

4, A HEET

Question Number : 44 Question Id : 5459279538 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Hornbill festival is celebrated from
Options:

1. % 1st Decernber

2. % 1st Neowember
2. % 12th Decermnber
4 % 15th Nowvember

Question Number : 44 Question Id : 5459279538 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

HAGIE G AL T HATIT AET &

Options:
1.9 1 ey
2. % 1 e
3 % 12 feHaw

4 ® 15 9w

Question Number : 45 Question Id : 5459279539 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

____________ measures the market value of all final goods and services produced by a country's Citizens or
residents.

Options:

1. ¥ Gross Mational Product
2. % Gross Domestic Product
2. % INet MNational Product

4. % MNet Dormestic Product



Question Number : 45 Question Id : 5459279539 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. ¥ Ta TP IodTE
2 % gEed Ol Jo0Ig
3. % Tae e SouTe
4. ® ToEm g 3o

Question Number : 46 Question Id : 5459279540 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
CAR stands for _____________
Options:

1. ¥ Capital Adequacy Ratio

2. % Credit Adequacy ratio

2. % Cash Adequacy Ratio

4. % Core Adequacy Ratio

Question Number : 46 Question Id : 5459279540 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 47 Question Id : 5459279541 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
who presented the Interim Budget of 2019-207

Options:

1. # Shanrrmakharm Chetty
= # Amit Shah

2. ¥ Pivush Goyal

4. % Arun Jaitley

Question Number : 47 Question Id : 5459279541 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. ¥ gegaA gt
o ® ariEg g

3. i e
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Question Number : 48 Question Id : 5459279542 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The 51 unit of electric current is
Options:

1. % kelvin

2. % candela
2 % mole

4 ¥ armpere

Question Number : 48 Question Id : 5459279542 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % e

2. ® HiEaAr

3 % O

4. gitRR

Question Number : 49 Question Id : 5459279543 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
___________ is a non-prescription drug used for relief from acid indigestion and heartburn.
Options:

1. % Aspirin

2. # Sodium Chloride

2. ¥ Calciurn Carbonate

4 * Sodium Carbonate

Question Number : 49 Question Id : 5459279543 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % e

2 % gifzgq FARES
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4. & gizad Fe-T

Question Number : 50 Question Id : 5459279544 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

At the district level,
activities.

Corrurittes has been constituted 1o meonitor Swachh Bharat rmission (Urban)

Options:
1. ¥ District Level Review and Monitoring



2. % District High Powered
3. % Designated Urban Local

4. % District Project Managerment

Question Number : 50 Question Id : 5459279544 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 51 Question Id : 5459279545 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The layer of very rare air above the mesosphere iscalled the _____________.
Options:

1. % exosphers

2. ¥ thermosphers

3. % stratosphers

4. # troposphere

Question Number : 51 Question Id : 5459279545 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. ® AmgHATEA
= ¥ JUHTEH
3. ® HEIOEE A

4 % rgOvea

Question Number : 52 Question Id : 5459279546 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Taenia isan exampleof ____________
Options:

1. ¥ Platyhelminthes

2. ® Coelenterata

3. % Ctenophora

4 % Porifera

Question Number : 52 Question Id : 5459279546 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:



1. ¢ wiEgleiem
2. % Hivveder
3. % IMmRT
4, % T

Question Number : 53 Question Id : 5459279547 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fusion of two gametes dissimilar in size, as in sorme species of Chlamydomonas is termed as

Options:

1. ¥ anisogamous
2. % [{50garmous
2. % oogamous

4. ® zoospores

Question Number : 53 Question Id : 5459279547 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. ¥ st

2 ® gAMHAEH

2 ® e

4 % SEUNE

Question Number : 54 Question Id : 5459279548 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
__________ is a water purification method that utilizes heat to collect pure water in the form of vapour.

Options:

1. % Boiling

2. ® Chlorination
3. % Filtration

4. Distillation

Question Number : 54 Question Id : 5459279548 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % Foe

2 % FENATE
2 ® fed

4. & A

Question Number : 55 Question Id : 5459279549 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



which among the following is not an infectious viral disease?
Options:

1. ¥ Dengue

Z % Murmps

3. ® Influenza

4. ¥ Typhoid

Question Number : 55 Question Id : 5459279549 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % 27

2. % TEgeT

3. ® g

4 v =

Question Number : 56 Question Id : 5459279550 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
_________________ 15 the largest concrete gravity dam in Eerala.

Options:

1. ¥ Cheruthoni Dam

= % Indira Sagar Darr

3. # Krishnarajasagar Dam

4. % Mettur Darmn

Question Number : 56 Question Id : 5459279550 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. cieepiT are

2 % T 9T aer

%, % FEETTENR "Te

4.¥3ﬂgfaﬁr

Question Number : 57 Question Id : 5459279551 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Godavari river originates from State.

Options:

1. % Hirmmachal Pradesh
= % Karnatala

2. ¥ Maharashtra

4. % Madhva Pradesh

Question Number : 57 Question Id : 5459279551 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. ¥ BuEs ndy

2 % Fiew

= ¥ WY
4. % eIy

Question Number : 58 Question Id : 5459279552 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich among the following so0ils requires least use of fertilisers?

Options:

1.9 Alluvial Soil
= % Laterite Soil
3. % Black Soil
4. % Fed Soil

Question Number : 58 Question Id : 5459279552 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. ¥ Uegfere war
o, ® EET gar
3. % FEr g

4. ® F{ 731

Question Number : 59 Question Id : 5459279553 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The present capital of Burma is _____________.
Options:

1. ¥ Mavpyidaw

Z. % Dhala

3. # Thirmphu

4. % Kathrmandu

Question Number : 59 Question Id : 5459279553 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. wteT
2. % T

3 % g

4. ® HEATE



Question Number : 60 Question Id : 5459279554 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwho is called the "Father of Green Revolution in India"?

Options:

1. ¥ Mankombu Sambasivan Swarminatharn
2. % Vikrarn Sarabhai

3. % Jawaharlal MNehru

4. % Bal Gangadhar Tilak

Question Number : 60 Question Id : 5459279554 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. [ ] HrFaidae Fam e

= % TOwyanTe

3. ® SERHAH HgE

4 % g TR e
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Question Number : 61 Question Id : 5459279555 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Guru Shikhar, the highest point of Rajasthan, liesonthe ___________
Options:

1. ¥ Western Ghats

= % Eastern Ghats

2. % Karakorarm Range

4. ¥ Aravalli Range

Question Number : 61 Question Id : 5459279555 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % gt e

2 % gEiaw
3. ® gETERy
4 & aWIEET i

Question Number : 62 Question Id : 5459279556 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

People were gathered at Jallianwala Bagh in Amritsar to protest against arrest on Saifuddin Kitchlew and
Satvapal o

Options:

1.9 13th April 1919
Z % 12th May 1918
3. % 15th April 1920

4. % 168th May 1921

Question Number : 62 Question Id : 5459279556 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1.v 13 aMa 1919
2 % 1oWE 1918
3 % 15 afa 1920
4 % 1571921

Question Number : 63 Question Id : 5459279557 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who was the first worman president of Indian National Congress?

Options:
1. % Annie Besant

Z % Sarojini Maidu



2. % [ndira Gandhi

4 % Sonia Gandhi

Question Number : 63 Question Id : 5459279557 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. T EET

2. % T AEg

3. % giaar et

4. & grfee meE

Question Number : 64 Question Id : 5459279558 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
who was the founder of Utpala dynasty?

Options:

1. # Alakhana

2 ¥ Avantivarman
2. % Gopalavarman

4 * Sankaravarmarn

Question Number : 64 Question Id : 5459279558 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FTUR T T HEE &1 277

Options:

1. % amEar
2, ¥ aEfdand
3. ¥ AT
4. % FEeaad

Question Number : 65 Question Id : 5459279559 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ibrahim Lodi, the last Lodhi ruler, was defeated by

Options:
1. #* Humayurn
= ¥ Babur

3. # Jahangir

4 % Iltutrnish

Question Number : 65 Question Id : 5459279559 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
STTA ATt ATeer THEA A,

Options:

1% g



2. ¥ dnEw
3. ® FEiie
4 % gEgdraa

Question Number : 66 Question Id : 5459279560 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
who among the following Mughal Emperors built Mot Masjid?

Options:

1. ¥ Shah Jahan
= % Alkbar

2. % Hurmayun
4. % Babur

Question Number : 66 Question Id : 5459279560 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T # & e gre ga9re = Afd T aterg @ i e ot

Options:
1. & amgagT
o W ST

3. % gAY
4 % Gy

Question Number : 67 Question Id : 5459279561 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
___________ popularly knowr as “Ali Gauhar', was defeated in the Eattle of Buxar.

Options:

1. * Bahadur Shah II
2 % Albarl

2. ® Shah Alam]

4. % Shah Alam I

Question Number : 67 Question Id : 5459279561 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
__________ , TR TN &0 | 'SfF T TG o AT & A7 AW g, TFE & gy H g I O

Options:

1. % =ggr amg 1l
2. % amarll

3. % g AT
4.9 g A 11

Question Number : 68 Question Id : 5459279562 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which among the following books were not written by Rabindranath Tagore?

Options:



1. ® Gora

= % The Post Office
3. % Gardener

4. ¥ Magic Seeds

Question Number : 68 Question Id : 5459279562 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Terafere qeaapt & & ottt Telieaer 2T Gy gt ford 1€ e
Options:

1. % MR

2. ® gruwes AThe

3. % mEW

4 A iz

Question Number : 69 Question Id : 5459279563 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The headquarters of Food and Agricultural Organisation is located in

Options:

1. * Faris

= ¥ Rome

3. % London
4. % MNew York

Question Number : 69 Question Id : 5459279563 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
GTET R Y T o GEaTe ___________ H T 81

Options:

1. % of
2 v om
3 % Fed

4 8 e

Question Number : 70 Question Id : 5459279564 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wioormera, rocleet launch station, 15 located in

Options:

1. ® China

= ¥ Australia
3. % Iraqg

4. % Russia

Question Number : 70 Question Id : 5459279564 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
SR, Ve Al T8, e &



Options:

1. % 2

2. ¥ sfiedierar
3 R

4, % &=

Question Number : 71 Question Id : 5459279565 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
YVijay Ghat is the memorial of

Options:

1. * Indira Gandhi

2. % Mahatma Gandhi
3. # Jawaharlal Mehru
4 % Lal Bahadur Shastri

Question Number : 71 Question Id : 5459279565 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Options:

1. % iy et

2. % mErenT et

3. ¥ FAETATA ARE
4, ¥ TR SgIge AT

Question Number : 72 Question Id : 5459279566 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
________ I Y U1 AR Urad o Ty It gEER 2019 S

Options:

1. ® gadzd
o ¥ T e
3. % THTeNT
4. ® zfdz e

Question Number : 72 Question Id : 5459279566 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
________ worl the Grammy Award 2019 for the best pop wocal album

Options:

1. % Shawn Mendes
= ¥ Ariana Grande
3. % Tony Bennett

4. % David Byrne

Question Number : 73 Question Id : 5459279567 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



EBalwant Moreshwar Purandare received Padma Vibhusan in 2019 for his contribution in the field of

Options:

1. % Art-Acting-Theatre

Z % Trade & Industry-Infrastructure
3. % Art-Yocals-Folk

4. % Public Affairs

Question Number : 73 Question Id : 5459279567 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ST AR e T ____ o g # I g o feny 2019 # oey Ferqmor e

Options:

1. ¢ - aREg-EEE

2 % TR S FET-oHaTar S
2. ® BAT-Ahrd-wE

4 % i ATAEL

Question Number : 74 Question Id : 5459279568 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
___________ of the Indian Constitution talks about the fundamental rights.

Options:

1. % Part1v
Z % Part V1
3. % Part]
4. ¥ Part 111

Question Number : 74 Question Id : 5459279568 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT 1 |ITeTT &7 Hifeier arfeerTet & = # o7 &ear &l

Options:

1. % 9urly
2 % vl
3. % 9l

4 % Il

Question Number : 75 Question Id : 5459279569 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which among the following is not a Fundarmental Right?

Options:

1. # Right to Equality

2. % Right to Freedom

3. ¥ Right against Criminal Injustice
4. % Right against Exploitation



Question Number : 75 Question Id : 5459279569 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TRieTET # & w1 U Aiiee It A5l 27

Options:

1. % |=aT @ ST

o, % TIdAar @ ST

3. o TR AT o TEATE S
4. % g o FATE STfET

Question Number : 76 Question Id : 5459279570 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The constituent assermbly adopted the national sorng on

Options:

1.9 Jan 24, 1950
= % March 25, 1951
3. % Jan 25, 1952
4. % July 22, 1950

Question Number : 76 Question Id : 5459279570 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

GIERIG K I S TP T ST
Options:

1. ¢ 24 Faet, 1950

= % 2o gEf 1951

3. ® 25 e, 1952

4 ® 2R, 1950

Question Number : 77 Question Id : 5459279571 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

According to which Article of the Indian Constitution states that the State shall endeavour to secure for the
citizens a uniform civil code throughout the territory of India?

Options:

1. % Article 40
= % Article 55
3. % Article 52
4. ¥ Article 44

Question Number : 77 Question Id : 5459279571 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

U 127 Hieher & T ajedg & STgaN T4 I% adaT & 19 Ad o I 87§ At @ 60 G A digdT & 5y =
TETET T T T FTY ®

Options:

1. % argdg 40
2 ® arEdgSh



3. % arEdg sl
4. V' srEdT 44

Question Number : 78 Question Id : 5459279572 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The Indian pair of G. Sathiyvanand ____________
Australian Open Table Tennis 2019

wiorl bronze in Men's Doubles at World Tour Platinum

Options:
1. # Srikanth Kidarmhbi

= ¥ Anthony Amalraj
3. # Achanta Sharath Kameal
4. % Soumyajit Ghosh

Question Number : 78 Question Id : 5459279572 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
IR HE T ) L & AR T AST T of Teiean SATegiea S0 fa ¢-e 2019 § 709 e § aes Sitamn

Options:

1. % sfiwT rarar
o, ¥ T ST
Z % 3ET g TEA
4. ¥ et o

Question Number : 79 Question Id : 5459279573 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Who is the first Indian sprinter to win gold medal in women’'s 100m in World Universiade, 20th Surmmer
University Garmes?

Options:

1. % Dutee Chand

= % Suresh Sathvya
3. % Jata Shankar

4. % anand Shetty

Question Number : 79 Question Id : 5459279573 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
30 o WieHwTe [eaieead @, ave g-dias | Argars! & 100 Hiet # Tt ugw Sia- ol Ugel 9 127 e ®19 57

Options:

1. ¢ gdt =g
2 % giaacy
3. % FaT AT
4 % s et

Question Number : 80 Question Id : 5459279574 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
which among the following Indian boxer is nicknamed “&hir boxer'?



Options:

1. # vijender Singh
2. % Alhil Kumar
2. ¥ YVaibhav Yadav
4. % Shiva Thapa

Question Number : 80 Question Id : 5459279574 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TEmET # § O IR Oge w1 S0 SRR a1 a7

Options:

1. % T Rig

2 % aIfw g

3. ¥ v g

4. % faar amr

Arithrmetic Abalityl

Group Number : 5

Group Id : 545927475

Group Maximum Duration : 0

Group Minimum Duration : 0

Revisit allowed for view? : No

Revisit allowed for edit? : No

Break time: 0

Group Marks: 20

Revisit allowed for group Instructions? : Yes

Maximum Instruction Time: 0

Minimum Instruction Time: 0

Arithrnetic Ability1

Section Id : 545027475
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number : 1
Sub-Section I1d: 545927569
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 5459279575 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Conwert 43 decirmnal to binary.
Options:

1. % 110000

2. % 101110

3% 101000

4 % 101100

Question Number : 81 Question Id : 5459279575 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT TIAAT BT aAGACT H TZeAl
Options:

1.9 110000

2. % 101110

2% 101000

4 % 101100

Question Number : 82 Question Id : 5459279576 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& gvm has & different bells for & different exercises which ring at the end of each exercise. The duration of the
exercises are 40, 45, 50, 60, 75 and 125 seconds. If the bells ring together at 9 AM, then at what tirme nesxt will
they ring together?

Options:

1. % 10:30 AM
Z W 11:20 AM
2% 11:40 AM
4 % 10:45 AM

Question Number : 82 Question Id : 5459279576 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
U T B 6 SeT- 21T ST o 160 6 STATT- STAT T & A1 Wodidr ST o 39 § aad [ 51 SAT3H o S/ETer 40, 45, 50, 60,
75 AR 125 Hwe 51 i tol qgig 9 o UF 91 el g, a5 ST o o THe o U 9 a7

Options:

1. % 10:320 qaig
2 ¥ 11:30 q@ig
3 % 1140 gaig
4 % 10:45 qaig

Question Number : 83 Question Id : 5459279577 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& building has 2 elevators. X gets on one of thern and ¥ on another. ¥ takes the elevator from the 2nd floor
which goes up at 15 floors a minute. ¥ takes the elevator from 107th floor which cormes down at 20 floor a
rrunute. At which floor do ¥ and ¥ meet?

Options:
1. % 45

2. % 46



3. ¥ 47
4. % 43

Question Number : 83 Question Id : 5459279577 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tk AR H 2 Toire §) X o H S ue s Y gae d 9T e ¥ A a e daT s S ow e § IS Aea e a8 ¥ 107
At At & Toige #9715 91 O i # 20 797 00 $aT 31 X 8% Y o Afaa o e 7

Options:
1. % 4E

2 ® 46
2. ¥ 47
4. % 43

Question Number : 84 Question Id : 5459279578 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
what is the sum of the digits of the smallest number divisible by 4, 14, 18 and 257

Options:
1.9 3
2. % 12
2. % 15
4 % 18

Question Number : 84 Question Id : 5459279578 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
4, 14, 18 3T 25 g7 ST Hae g1t JeaT o ST 3T 20 747 57

Options:
1.¥ 3

2. % 12
3. % 15
4 ® 13

Question Number : 85 Question Id : 5459279579 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the LCM of 4/125, 7/100 and 225,

Options:

1. % 104
2. % 12
=% 15
4 ¥ 112

Question Number : 85 Question Id : 5459279579 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
4(125, 7}100 & 2|25 & ATTH THI & F1 AT F

Options:




1. % 1.04
2 ® 1z
3. %15
4.9 112

Question Number : 86 Question Id : 5459279580 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A nurnber 727X 44 is divisible by 88. Find the value of ¥

Options:
1.91
2. w2
3% 3
4 % 4

Question Number : 86 Question Id : 5459279580 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
HEIT 727444, B8 € I 81 ¥ ®1 7d 19 %4

Options:
1.¥1
2 %2
3% 3
4 % 4

Question Number : 87 Question Id : 5459279581 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A child gets 1 random coin out of Re 1, Bs 2 and Es 5 coins daily. He starts on 1st April and at the end of the
month, he has coins in the ratio 5:4:48. Find the value of the coins with him

Options:

1. % Rs94
2. % Rs 96
2. % Rs B4

4. % Rs 26

Question Number : 87 Question Id : 5459279581 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T &2 F Al TeT 1 200, 2 #0737 S o0y o 1898 § | F1 of UF 937 Wear 81 95 1 e  oF a7 ¢ o Agi o 2T | 39
UT 546 & SuTd H € 519 81 39 9 & g F G5 A a) *

Options:

1. % 94wy
2. % 95wy
2% g4y
4 ¥ 26 #7

Question Number : 88 Question Id : 5459279582 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

4 bikes can be bought at the same price instead of 2 cars. If the total price of 7 bikes and 5 cars is Rs
4100000, then what is the price of a bike?

Options:

1. % Rs 80000
2. % Rs 120000
2. ¥ Rs 300000

4. % K5 240000

Question Number : 88 Question Id : 5459279582 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

: arga?aaﬁal ATZeh JET HIAT U GGT AT Tt [ 2] TG, 7 a5 1 5 BRIkl el hiHd 4100000 20T 2, T a5 i Hiud
T 2

Options:

1. % g0000 FoT
2. % 120000 w7
3. % 200000 T
4. % 240000 w7

Question Number : 89 Question Id : 5459279583 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
what is the product of the digits of the smallest number exactly divisible by &, 16, 22 and 287

Options:

1. % 486
2. % 1458
3% 729

4. ¥ 97z

Question Number : 89 Question Id : 5459279583 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

6, 16, 22 3T 28 gRT o= Aad 1ET G907 & fem=-1 @71 0-ha 47 27
Options:

1. % 486

2. % 1458

3% 729

4. ¥ 97z

Question Number : 90 Question Id : 5459279584 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& nuarmber's square multiplied by 5015 exactly divisible by 40, 45, 50 and 0. Find the rminimuam possible
value of the nurmber.

Options:
1.v¥ 8
2. % 8
2% 9



4 ® 5

Question Number : 90 Question Id : 5459279584 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T ST T AT SO T A W 40, 45, 50 T 60 ¥ =T 51aT 81 AT F1 ~JA9H 49 Iod A9 W

Options:
1.v &
2. % 8
=% 9
4 % 5

Question Number : 91 Question Id : 5459279585 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhat is the average of the cube root of the first & positive nurmbers having a perfect cube root?

Options:
1. %2
2. ¥ 3
3% 4
4 % 35

Question Number : 91 Question Id : 5459279585 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TEe 5 HFTeHE ST dlct I BT Sl S8 #2757

Options:
1. %2
2 ¥ 3
2% 4
4 % 35

Question Number : 92 Question Id : 5459279586 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A car has to cover 125 ks in & hours. What will be the average speed of the car if it has covered 90 kms in
the first 3 hours?

Options:

1. % 20km/h
2. % 25 kmih
2% ZEBkm/h
4 % 24 km/h

Question Number : 92 Question Id : 5459279586 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T B T 5 W H 125 kerry Y GET T AT 51 W T ST i 4T B, AiG FE gl 3 el H 90 krn @ g a9 @ Al 57
Options:

1. % Zokm/h



2. ¥ 25 kmjh
3. % 28km/h
4. % 24 kmfh

Question Number : 93 Question Id : 5459279587 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

¥ zells goods to Y at a profit of 20 percent and ¥ sells the same goods to £ at a profit of 50 percent. If the cost
price for Z is Bs 9000, then what is the cost of the goods for X7

Options:

1. % FEs 5000
2. % Rs 5400
3. ® Es 4500
4. % Rs 4000

Question Number : 93 Question Id : 5459279587 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

¥, Y W 20 Ui e & #T W AT &7 § Y SH S w2 S 50 Widdd % @ O ST 81 At 2 % BT @ g5 9000
T 5, 91 X o ToiT #Te &F @ o 57

Options:

1. % 5000 zo7
= % 5400 77
3. % 4500 77

4. % 4000 7

Question Number : 94 Question Id : 5459279588 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The area of a square increase by £% percent when the side is increased. Find the increase in the side of the
SQUArE.

Options:

1. % 25 percent

= ® 2750 percent
2. ¥ 20 percent

4 # 3250 percent

Question Number : 94 Question Id : 5459279588 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
T T AT 5 JHFT ST 69 UITST oF AT 21 97 o AT H FanT Jheg @l T2 27

Options:

1. % o5 afdeT

2. % 27 50T
3. ¥ 30 UideT

4, % 3250 0T

Question Number : 95 Question Id : 5459279589 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

¥ has a basic salary of Bs 10000, He earns cormmission S percent on sales above BEs 40000, How rmuch sales
should he make to get a total pay of Rs 400007

Options:

1. % Rs 600000
2. % Rs 720000
2. % Rs 560000
4 % Rz 640000

Question Number : 95 Question Id : 5459279589 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

¥ T OA o 10000 07 21 98 40000 7 & arféer & foehl 10 5 nidad @i #aT 21 40000 7 6 §d da- 0 & 6oy
T TeraT et et m2afte

Options:

1. % 00000 FuyT
2. % 720000 wur
2. % Le0000 FT
4. % §40000 T

Question Number : 96 Question Id : 5459279590 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

¥ scored 52 percent in a test and failed by 15 marks. ¥ scored 62 percent in the same test and passed by 35
marks. What 15 the passing score?

Options:

1.9 275
2. % 250
2% 3200

4. % 350

Question Number : 96 Question Id : 5459279590 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

X A O $%T § 52 WA TR T o 15 ST § SThH TN Y U 1 48 # 62 Hid T TRie o o 35 it & i gem
FTIT TFIE FAT 57

Options:

1. ¥ 275
2. % 250
2. % 3200

4 % 350

Question Number : 97 Question Id : 5459279591 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

¥ bought a machine for Bs 10000 and ¥ bought it for & percent less. ¥ sold the machine for 12000 and ¥ sold
it for 15 percent more. How rmuch more profit did ¥ make?

Options:
1. % Rs 2200
2. % Es 1800



3. % K5 2400
4 % Fs 2100

Question Number : 97 Question Id : 5459279591 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

¥ 10000 =07 § Uw gai SOer Agier Y F 56 S widad wH H | ¥ S 3 @t 12000 F #= a9 5 1S uidaT
e ® sy Te=m v 3 Tepaar St AT wEE?

Options:

1. % 2300 707
2. % 1800 7
2% 2400 T

4, % 2100 Fq7

Question Number : 98 Question Id : 5459279592 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& gadget was bought at a discount of 25 percent on MEF and was sold for 10 percent discount on MEF. What
is the profit percentage?

Options:

1. ¥ 20 percent
2. % 2L percent
2. % 30 percent

4 % 35 percent

Question Number : 98 Question Id : 5459279592 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
MRP T 25 Widad &1 g W ek T GEgT 727 &7 87T MRP W 10 Uiderd &7 §¢ U st 727 oM @07 Wi & 747 87

Options:

1. % 20 nideT
2. % 25 uide
3. % 30 uideT
4. % 35 OideT

Question Number : 99 Question Id : 5459279593 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

4 school has 400 students. The annual fees was increased by S0 percent. 20 students were then offered a
scholarship of S0 percent. By how much did the profits of the school increase?

Options:

1. % 42 75 percent
2. % 44 75 percent
2. % 45 25 percent
4. 9 48 25 percent

Question Number : 99 Question Id : 5459279593 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



T e # 400 13 81 36 arftw Jow § S0 WidaT & ghe &1 118 Fate 20 T30 BT S0 Hidad & FTagid FgH & T2l

TErEITeTaT T YATET T =T agT?

Options:

1. % 42 75 uided
2. % 44 75 uidaT
3. % 45 25 uideT
4 ¥ 46 25 nidaT

Question Number : 100 Question Id : 5459279594 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Find the proportion equivalent to MIMN:O:F if MN = 8:15, MO = 59 and O:Pis 18:197
Options:

1.9 16:20:54:57

2 % 18:28:54:57

. % 18:20:51:57

4 % 18:20:54:78

Question Number : 100 Question Id : 5459279594 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

MNP 3 SRTeR T ST A &, Ty MM = 8:15, N:0 = 5:9 s OP 18:19 87
Options:

1. ¥ 16:30:54:57

2 ® 16:28:54:57

3. % 168:30:51:57

4 % 18:30:54:78

Arithumetic Ability2

Group Number : 6
Group Id: 545927476
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Arithrmetic Ability2

Section Id : 545027476
Section Number : 1
Section type: Online

Mandatory or Optional: Mandatory



Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 545927570
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 5459279595 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If iy = 58, then what is the value of 8x[5vy?

Options:
1.% 1.2
= ¥ 11
3% 14
4 % 15

Question Number : 101 Question Id : 5459279595 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
aqfE )y = S8, T 8x Sy T Grd 1 57
Options:

1.% 1.2

2. ¥ 11

=% 14

4 % 1.5

Question Number : 102 Question Id : 5459279596 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& narnber 15 20 percent srraller than a second number. Howewer, the second nurmber now increases by 20
percent with no change in the first nurmber. What is the ratio of the two numbers now?

Options:
1. % 25
2 % 53
3.9 23
4 % 32

Question Number : 102 Question Id : 5459279596 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

CorrectMarks 1 Wrong Marks: 0.25
ugﬂﬁﬂw@rzo WTcad FIET 31 FIRiiey, gl ST H 1% eaelld A5 51 & a7l Gae §&d1 20 Aidad § &g 4151 576

Optlons.
1. % 35
L



3.¥ 23
4 ® 32

Question Number : 103 Question Id : 5459279597 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& bank offers simple interest and a certain portion of the principal as bonus. & principal of Rs 25000
amounted to Rs 20000 when the interest rate was 10 percent. What was the rate of bonus?

Options:

1. % 10 percent
2. % 15 percent
2. % 20 percent

4, * 2L percent

Question Number : 103 Question Id : 5459279597 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T el |07 ST <71 qeTer T Uk Wi T e & 0 0 Ug #edl 51 sar o¢ 10 Widad 514 W 25000 07 & g
20000 FOT FT M 148 o ST 7497 217

Options:
1.9 10 ufdaT

o % S uduT
3 ® 20 uldad
4 # 25 giguT

Question Number : 104 Question Id : 5459279598 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sumof Rs 12000 amounts to BEs 16000 in 3 years at the rate of simmple interest. What is the rate of interest?

Options:

1. % B.00 percent
2. % 909 percent
3.9 11.11 percent

4. % 10.00 percent

Question Number : 104 Question Id : 5459279598 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TR T &1 2% & 2 a6 § 12000 #07 & 16000 F07 51T A6 51 =47 2T 747 57
Options:

1. % 500 uidaT

o ¥ 909 uideT
3 ¥ 1111 uldaT
4 ¥ 1000 uigaT

Question Number : 105 Question Id : 5459279599 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

An inwvestment opportunity offers 200 percent p.a. compound interest compounded quarterly. What is the
effective annual interest rate?



Options:

1. % 200 percent

2. % 250 percert

3. ¥ 406 25 percent
4. # 506 25 percent

Question Number : 105 Question Id : 5459279599 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
200 T Wia T =g =0T oF & TIhag AW Tela T S[aHT 247 o] TATET It 2T 2f F47 57

Options:

1. % 200 o

2. % 250 AidaT

3. ¥ 40625 nidae
4, % 506 25 nidaT

Question Number : 106 Question Id : 5459279600 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& shooter hits 2 targets at speeds of 750 kmjh and 900 km/h. If the target is 100 m away, what is the ratio of
the tirne takern to hit the target?

Options:
1. % 56
z ¥ EBE
SRR
4 % 97

Question Number : 106 Question Id : 5459279600 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T ¥ 750 krn/h 8% 900 kenyfh @ i & 2 T 5T §1 Aie /g 100 m g R, a1 f5T @i 5T @ # v Sle |
SHT T &7

Options:

1. % 5&

2 ¥ 55

3% 79

4 % 9.7

Question Number : 107 Question Id : 5459279601 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& runner can complete a distance of 100 min 15 seconds. If his speeds reduces by 1)5th, then how muach
distarnce can he cover in the next =0 seconds?

Options:

1.9 160m
2. % 200m
2% 175m
4 % 210m



Question Number : 107 Question Id : 5459279601 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Wﬂ%’cﬁ 15 ¥Hehg # 100 111 @1 LT €7 o TehaT 51 Aie JqHT G 1/S FH GIAG g, 91 @5 SHH 30 G § oha1 git 7 &
qHAT &

Options:

1. 160m
2. % 200m
2% 17Em
4 % 210m

Question Number : 108 Question Id : 5459279602 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Two runners finish a 20 km marathon race in a difference of 20 mins. What is the winner's speed if their
speeds differ by 2 kmih?

Options:

1. % 125km/h
2. % Slkmih

2. % Blkmih

4 % 10km/h

Question Number : 108 Question Id : 5459279602 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
3T ermer 30 T & ofaw i 20 ken &1 e 21s gl w3 afy R i 2 kogh & g 21 2 @ RS & of g 2

Options:

1. % 125km/h
2. % Slkmih

2 % Skm/h

4 % 10km/h

Question Number : 109 Question Id : 5459279603 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

¥, ¥and Z can complete a task in 240, 300 and 360 days respectively. In how many days can the work be
finished if it is started by ¥ and he is assisted by ¥V and Z on every third and second day respectively?

Options:

1. % 120
2. % 132
2% 144
4 % 150

Question Number : 109 Question Id : 5459279603 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

X, ¥ oW Z WHS 240, 300 aﬂrSBDﬁ:ﬁﬁwmagmm%ﬁ e ¥ BWT & T mar 7 o I8 TS Y AN 2 BRI uedw
S 7 S T AT e 1 e 1 g o TR ot # e @A T | g 57

Options:

1. % 120




2. % 132
3% 144
4. % 150

Question Number : 110 Question Id : 5459279604 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

¥ can type 25 words in a minute and ¥ can type 30 words in a minute. If an essay of 550 words is to be typed,
then irl how much time will both of thern finish the essay while typing together?

Options:
1. % 1/4 hour

f
2 % 1/6 hour
z 0% 1)
4 % 2|5 hour

= hour

Question Number : 110 Question Id : 5459279604 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
X UF AT § 25 dfeg T150 @ A & S Y UF THET # 20 e T80 B GFdT 51 9i¢ 550 Jeal #7 e TET #AT E, a1 S
TR THT H U T SIS0 e § e Won i

Options:
1% 174
Z 9 16 e
2 % 1/3de
4. % 25 AT

Question Number : 111 Question Id : 5459279605 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

¥ can cormplete 172 the task in 8 days and ¥ can complete 1/4th of the task in 16 days. In how many days
together can they finish the task?

Options:

1. % 125
2. % 132
2% 108

4 ¥ 128

Question Number : 111 Question Id : 5459279605 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
Xlj2ad® 18 e # W a Aaar g 90 Y 16 Taar # 1) 4 &l [0 F< Hehd 1 g1 Uk @0 e [T # o & 07 7 e 57

Options:

1. % 125
2. % 132
2% 108
4 ¥ 128

Question Number : 112 Question Id : 5459279606 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

The total surface area of a cylinder measures 2992 sq cm and the radius is 14 cm. Find the height of the
cylinder.

Options:

1. % Scm
2. % 10cm
3. % 15cm

4 % 20cm

Question Number : 112 Question Id : 5459279606 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e TAEET 1§l |d% 47 2992 5q cm dR e 14 om 31 Wt 3 3 AT @

Options:

1. % 5cm
Z % 10cm
3. % 15cm
4. % 20cm

Question Number : 113 Question Id : 5459279607 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Find the total surface area of the cone if the radius and height of the cone measure 42 cmand S8 cm
respectively.

Options:

1. % 7392 s5q cm
2. ¥ 14784 5q Cmn
3. % 11088 5q cm

4 % 22176 50 cm

Question Number : 113 Question Id : 5459279607 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e i 1 T o FaTE e 42 om 3 56 orm § 91 9 & Fdl 9dg % ST 19 F
Options:

1. % 7392 s5q Cm

=z ¥ 14784 5q Cm

2. % 11088 s5q cm

4. % 22176 5q Cm

Question Number : 114 Question Id : 5459279608 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A& conical figure is reformed where the radius is increased by 20 percent and the height is reduced by 20
percent. What is the change in the volume of the figure?

Options:
1. # 152 percent decrease
2. ¥ 15.2 percent increase

3. % 20 percent decrease



4, % 20 percent increase

Question Number : 114 Question Id : 5459279608 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T AFTET ﬁsg_g%?ﬁmwm%ﬁaﬁﬁwﬁzoﬁmﬁqﬁ@ﬁ%aﬂ?'ﬁﬁﬁzawﬁmﬁfﬁﬁr@ﬁ% ATFTT &

A # F47
Options:

1. % 152 gl Tt
2. « 152 0T T
= % 20 nideT wHT

4. % 20 UideT IR

Question Number : 115 Question Id : 5459279609 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

UTE AT U Rl 3 oy e Ty ufa 3 T e O i @ gt 21 ot Teete R @ T i 2250 g ) @ B
A @ O e e e H T S g7 U g H of T8 §Ed] UNER F S o SuTd | 81

T @Ay gREr & @

gfidf, 120

wierr, 150

fiEm, 135

faarel, 75
T, 240

i1, 240

Options:

1.4 1800 zug
2. % 1600 707
3. % 2400 Ty
4, % 2700 7o

Question Number : 115 Question 1d : 5459279609 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The pie chart shows the different kinds of expenses of a particular family for a month. If the amount spent on
electricity is Ks 2250, then what is the difference between the amounts spent on Rent and Food? The numbers
giverl in the pie chart are in proportion to the expenses of the family.

Expenses of a Particular Family

Miscellaneous, 120

Shopping. 150

Education. 135

e
Electricity, 75 Rent 240

Food, 180

Options:

1. ¥ Es 1800
2. % Rs 1600
3. % R 2400
4, % Rs 2700

Question Number : 116 Question Id : 5459279610 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The pie chart shows the proporticnate population of 7 districts. The 7 districts make up a town. If the
population of Districts B, D and E add upto 20,000, then what is the total population of the other districts?

Population of Districts

Options:
1. % 20000
= % 100000



2. % 180000
4 " 120000

Question Number : 116 Question Id : 5459279610 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
g = 7 el d TETET T Tt 31 7 O U AT aaTd 7 AtE et B, D & E W S-eEaT 50,000 9% §, 97 &

ot @ sawe

Options:
1. % 0000

2 % 100000
=z ® 180000
4 % 120000

Question Number : 117 Question Id : 5459279611 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The table shows the various annual expenses of a firm {in '000s of rupees) from 2002-200&. By how much is
the average expenditure on Delivery 1S more than the average expenditure on Interest?

e Particulars

Purchases | Wages Rent Interest |Delivery
2002 62500 87500 | 100000 | 40000 | 40000
2003 75000 60000 85000 35000 | 45000
2004 100000 | 75000 90000 55000 | 55000
2005 110000 90000 50000 45000 | 55000
2006 125000 | 100000 70000 50000 | 75000

Options:

1. % 20 percent



2. % 1250 percent
= % 10 percent
4, % 25 percent

Question Number : 117 Question Id : 5459279611 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ITAET 2002-2006 T TF BH (000 708 ) & &g arb® T & Said ! 51 =40 & Taen o oieT =0 raar 27

Iq Skl
T | @99 |THar | | | 19l
40000

2002 62500 | 87500 | 100000 40000
2003 75000 | 60000 | 85000 | 35000 | 45000
2004 | 100000 | 75000 | S0000 | SS5000 | 55000
2005 | 110000 | 90000 | SO000 | 45000 | 55000
2006 | 125000 | 100000 | 70000 | S0000 | 75000
Options:

1. % 20 ufdeT

2 % 1250 O

3. % 10udaT

4. ® 25uidad

Question Number : 118 Question Id : 5459279612 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The bar graph below shows the production of wheat (in tonnes) by a big farm over the years 2011-2018. In
how many of the given years was the production of wheat 1855 than the previous year if the production in the
vear 2010 was 3000 tonnes?

7500
000
6500
E000
| S000
! 4500
1 2500
2000
1

2011 2012 2013 2014 2015 2016 2017 2018
Year

T

RITIIIIT

Options:
1. % 4
2. ¥5
3 %5
4 ® 3z



Question Number : 118 Question Id : 5459279612 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

et T T A T A 2011-2018 H Uw o2 Wd # 17 (T H) #7 Ioured e g a4 2010 # IeureT 3000 T a7 at
Tew T et # & T o g Tt o ot g § @ ar?

-~ 7500 5000
6000 5000
000 4500
F 4000
2500
2000
J I
2011 2012 2013 2014 2015 2016 2017 2018

T

i

"
;

i

3

Options:
1. % 4
2. ¥ 5
3 % g
4 % 3

Question Number : 119 Question Id : 5459279613 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

The following histogram shows the quantity of cement (in million kg) imported by India from 2014-2018.
Wwhat is the ratio of the nurnber of years having less than average imports to the number of years having more
tharn average irnports during the given period?

60000 55000 52500
S0000
40000
i
20000
10000
0
2014 2015 2016 2017 2018
Year
Options:
1. % 14
> %41
3 % 23

4 ¥ 32



Question Number : 119 Question Id : 5459279613 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

et T T ArEA T 2014-2018 & R X7 s (e kg &) dide § o o gotar 21 & e ety o SR sfted
ST & STeIer ool ol 6T & S STaTd & FH G aTol a9l 1 EET ®T SuTd &1 gme

60000 55000 2500
50000
40000
E
20000
10000
0
2014 2015 2016 2017 2018
EL
Options:
1. % 14
= R4
o ¥ o3
4 ¥ 22

Question Number : 120 Question Id : 5459279614 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The line chart shows the annual food grain production in million tonnes) for vears 2012-2017. By how much
has the average production in 2015-2017 has increased from the average production in 2012-20147

:

Annual Food Grain Produ

2012 2013 2014 2015 2016 2017
Year

Options:
1. % 100 percent

2. % 2% percent
% % 50 percent



4, % G567 percent

Question Number : 120 Question Id : 5459279614 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT =R a8 2012-2017 % 7y arite Geng Soaied (Hide o ®) aiar g 2015-2017 # oiad Io0ed 2012-2014 &
TeFa=IT =131 27

= 14000 -
'% 12000 -
g 10000 - 12000
10000
L=
o 6000 - 8000
3 4000 - 6000 6000
"
< 0
2012 2013 2014 2015 2016 2017
Year
Options:
1. % 100 uidaa
2 % o gidT
. ® SondaT
4 ® gg 87 uldaT
Zeneral Englishl
Group Number : 7
Group Id: 545927477
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
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Display Number Panel: Yes



Group All Questions: No

Sub-Section Number: 1
Sub-Section 1d: 545927571
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 5459279615 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following staternent, one part of the sentence may have an error. Find out which part of the sentence
has an error and click the button corresponding to it. If the sentence is free frorm error, select the "MNo error”
option.

&) They wanted tof (E) build a new [ (C) shed in the garden. | (O No error
Options:
1. % 4
2. % B
2w C
4 ¥ D

Question Number : 121 Question 1d : 5459279615 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may have an error. Find out which part of the sentence
has an error and click the button corresponding to it If the sentence is free frorm error, select the "No error”
Option.

(&) They wanted tof (B build a new | (C) shed in the garden. | (O No error
Options:
1. % 4
2. % E
3% C
4 ¥ D

Question Number : 122 Question Id : 5459279616 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may have an error. Find out which part of the sentence
has an error and click the button corresponding to it. If the sentence is free from error, select the "No error”
option.

&) Their meeting ) (B) lasted for! () almost a hour. | O No error
Options:
1. % 4
2. % B
IV
4 % D

Question Number : 122 Question Id : 5459279616 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



In the following statement, one part of the sentence may have an error. Find out which part of the sentence
has an error and click the button corresponding to it If the sentence is free frorm error, select the "No error”
Option.

(&) Their meeting f (E) lasted for| (C) almost a hour. [ (D) No error
Options:
1. % 4
2. % B
2V
4 % D

Question Number : 123 Question Id : 5459279617 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following staternent, one part of the sentence may have an error. Find out which part of the sentence
has an error and click the button corresponding to it. If the sentence is free from error, select the "Moo error”
option.

) Many cafes| B) serve cornplirnentary | (C) mocktail with the meal. | (O No error
Options:
1. % A
z. % E
3%
4 ¥ D

Question Number : 123 Question Id : 5459279617 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following staternent, one part of the sentence may have an error. Find out which part of the sentence
has an error and click the button corresponding to it. If the sentence is free from error, select the "MNo error”
option.

A Many cafes| [B) serve cornplirnentary | () mocktail with the meal. | (O No error
Options:
1. % A
2 =B
3=
4 ¥ D

Question Number : 124 Question 1d : 5459279618 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may have an error. Find out which part of the sentence
has an error and click the button corresponding to it If the sentence is free frorm error, select the "No error”
Option.

(&) My friends mowved | (E) to a small house( (C) at the sea. | (D) No error
Options:
1. % 4
2 % B
I VC



4. = D

Question Number : 124 Question Id : 5459279618 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following staternent, one part of the sentence may have an error. Find out which part of the sentence
has an error and click the button corresponding to it. If the sentence is free from error, select the "MNo error”
option.

A My friends mowved | {E) to a srmall house) () at the sea. | ) Mo error
Options:
1. %= A
2 =B
IV
4 = D

Question Number : 125 Question 1d : 5459279619 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following staternent, one part of the sentence may have an error. Find out which part of the sentence
has an error and click the button corresponding to it. If the sentence is free frorm error, select the "Mo error”
option.

(&) One of the colleague/ (B) was unsure| (C) about the plan of action. [ (D) Mo error
Options:
1.9 4
2 =B
=W
4 = D

Question Number : 125 Question Id : 5459279619 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may have an error. Find out which part of the sentence
has an error and click the button corresponding to it. If the sentence is free frorm error, select the "No error”
Option.

(&) One of the colleague/ (B) was unsure| (C) about the plan of action. [ (D) No error
Options:
1. 4
2. % B
3% C
4 % D

Question Number : 126 Question Id : 5459279620 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Select the word segment that substitutes replaces) the bracketed word segrment correctly and cormpletes the
sentence meaning fully.

Though) of the hardwork, Harsh could not succeed.
Options:



1. ¥ Inspite
2. % Although
3% With

4. % Mo correction

Question Number : 126 Question Id : 5459279620 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Select the word segrment that substitutes (replaces) the bracketed word segrment correctly and cormpletes the
seritence meaningfully. (Though) of the hardwork, Harsh could not succeed.

Options:

1. ¥ Inspite

2. % Although

3. % With

4. % Do Correction

Question Number : 127 Question Id : 5459279621 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
select the word segrment that substitutes replaces) the braclketed word segrment correctly and completes the
sentence meaningfully.

The new manager is bound to (effect) positive changes in the office.
Options:

1. * hawve effecting

= 9 affect

3. % iz affecting

4. % Mo correction

Question Number : 127 Question 1d : 5459279621 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word segrment that substitutes (replaces) the bracketed word segrment correctly and cormpletes the

sentence meaningfully.
The new manager is bound to {effect) positive changes in the office.

Options:

1. * hawve effecting
2. ¥ affect

2 % isaffecting

4. % Mo correction

Question Number : 128 Question Id : 5459279622 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
select the word segrment that substitutes (replaces) the bracketed word segment correctly and completes the
sentence meaningfully.

Prachi is the (most pretty) girl in the college.
Options:
1. % most prettiest



2. % more pretty
3. ¥ prettiest
4. % DMNo correction

Question Number : 128 Question Id : 5459279622 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
select the word segrment that substitutes (replaces) the bracketed word segment correctly and completes the
sentence meaningfully.

Prachi is the (most pretty) girl in the college.
Options:

1. * most prettiest

2. % more pretty

3. ¥ prettiest

4. % Mo correction

Question Number : 129 Question 1d : 5459279623 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word segrment that substitutes (replaces) the bracketed word segrment correctly and cormpletes the
sentence meaningfully.

Sharmi is (best) than Chahal,
Options:

1. % good

2. % more good

3. ¥ better

4. % Mo correction

Question Number : 129 Question Id : 5459279623 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word segment that substitutes replaces) the bracketed word segment correctly and cormpletes the
sentence meaningfully.

Sharmi 15 (best) than Chahal.
Options:

1. % good

2. % more good

3. ¥ better

4 % Mo correction

Question Number : 130 Question Id : 5459279624 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word segment that substitutes replaces) the braclketed word segrment Ccorrectly and completes the
sentence meaningfully.

The lane which (connecting) the two Cities is deserted,
Options:



1. # connected
2 % connects
2. % has connecting

4. % Mo correction

Question Number : 130 Question Id : 5459279624 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Select the word segrment that substitutes (replaces) the bracketed word segrment correctly and cormpletes the
sentence meaningfully.

The lane which {connecting) the two cities is deserted.
Options:

1. * connected

2. ¥ connects

2. % has connecting

4. % Mo correction

Question Number : 131 Question Id : 5459279625 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that fills in the blank correctly and completes the sentence meaning fully.

YVeena was ______ to bed with fever.
Options:

1. #* attached

z ¥ confined

2. % sticking

4. % lving

Question Number : 131 Question Id : 5459279625 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Selact the word that fills in the blank correctly and completes the sentence meaningfullg.r.

Veera was ______ to bed with fever.
Options:

1. # attached

2. ¥ confined

2. % sticking

4 % lying

Question Number : 132 Question 1d : 5459279626 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that fills in the blank correctly and completes the sentence meaning fully.

Sakshi ______ ore son and one daughter.

Options:
1. #* are



2. ® s
= % has
4. % hawe

Question Number : 132 Question Id : 5459279626 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that fills in the blank correctly and completes the sentence meaningfullg.r.

Sakshi ______ one sor and one daughter.
Options:

1. % are

2. % is

3. ¥ has

4. ® hawe

Question Number : 133 Question Id : 5459279627 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Selact the word that fills in the blank correctly and completes the sentence meaningfullgr.

Fakhi was content ____ her gifts.
Options:

1. % with

2. % at

2% on

4 % to

Question Number : 133 Question 1d : 5459279627 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that fills in the blank correctly and completes the sentence meaning fully.

Rakhi was content her gifts.
Options:

1. 9 with

2. % at

3 % on

4. % to

Question Number : 134 Question Id : 5459279628 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that fills in the blank correctly and completes the sentence meaningfullg.r.

Shamita is absorbad ____ reading.
Options:
1. % on
2. % to

3% at



4. % in

Question Number : 134 Question Id : 5459279628 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that fills in the blank correctly and completes the sentence meaningfullg.r.

Sharmmita is absorbed ____ reading.
Options:
1. % on
2. % to
3% at

4 % in

Question Number : 135 Question 1d : 5459279629 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Selact the word that fills in the blank correctly and completes the sentence meaningfullgr.

Mahika jumped from the bed.
Options:
1. % up
2. ®in
2% at

4. % on

Question Number : 135 Question Id : 5459279629 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that fills in the blank correctly and completes the sentence meaning fully.

Mahika jumped from the bed.
Options:
1. % up
2. % in
3% at

4. % on

Question Number : 136 Question Id : 5459279630 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that fills in the blank correctly and completes the sentence meaningfullg.r.

Yani's manager was doubtful
Options:
1. % in
2. % at
2 ¥ of

4. % on

her success.



Question Number : 136 Question Id : 5459279630 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Selact the word that fills in the blank correctly and completes the sentence meaningfullgr.

Vani's manager was doubtful _____ her success.
Options:
1. % in
2. % at
3. ¥ of

4 % on

Question Number : 137 Question 1d : 5459279631 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that fills in the blank correctly and completes the sentence meaning fully.

The manager thought that Vikash _____ fail.
Options:

1. % will

2. ¥ would

2% must

4. % should

Question Number : 137 Question Id : 5459279631 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that fills in the blank correctly and completes the sentence meaning fully.

The manager thought that Vikash _____ fail.
Options:

1. % will

= % yould

2% must

4 % should

Question Number : 138 Question Id : 5459279632 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Selact the word that fills in the blank correctly and completes the sentence meaningfullg.r.

Harshhwas _____ in1 the army.
Options:

1. % endowed

2. % eager

= % engaged

4 % enlisted

Question Number : 138 Question 1d : 5459279632 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Select the word that fills in the blank correctly and completes the sentence meaning fully.

Harsh was in the army.
Options:
1. * endowed

2. % egger
2 % engaged
4. ¥ erlisted

Question Number : 139 Question Id : 5459279633 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The questions below Cconsist of a set of labelled parts of a sentence. COut of four options given, select the most
logical order of the parts which form a coherent sentence.

[t has beer

P : has a detrirmental

< found that the

R : effect on the ozone layer
S 1 use of body spray
Options:

1. % SPOR

2. % POSE

3. ¥ OSFR

4 % RSP

Question Number : 139 Question Id : 5459279633 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The questions below Cconsist of a set of labelled parts of a sentence. COut of four options given, select the most
logical order of the parts which form a coherent sentence.

It has beer

F : has a detrirnental

< found that the

R : effect on the ozone layer
S 1 use of body spray

Options:

1. % S5POR
2. % POSE
2 ¥ OSPR
4. % REQP

Question Number : 140 Question Id : 5459279634 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The questions below consist of a set of labelled parts of a sentence. Out of four options given, select the most
logical order of the parts which form a coherent sentence.

The city police

F : department reportad

2 of all petty Crimes

R : go unreported

S : that approximately 20 percent

Options:

1. % OSEF
2. % PR5SCQ
2 ¥ PSOR
4 % SORP

Question Number : 140 Question 1d : 5459279634 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The questions below consist of a set of labelled parts of a sentence. Out of four options given, select the most
logical order of the parts which form a coherent sentence.

The city police

P department reported

& of all petty crimes

R : go unreported

S that approximately 20 percent

Options:
1. % QSEF
2. % PRSC
2 W PSOR
4. % SORFP
rereral EﬂgliShE
Group Number : 8
Group Id: 545927478
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
rereral EnglishE
Section Id : 545027478
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory

Number of Questions: 16



Number of Questionsto be attempted: 16

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 545027572
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 5459279635 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The sentences of a paragraph have been jumnbled up, and labelled F, ©, K and 5. Select the option that gives
the correct sequence in which these sentences should be rearranged to form a meaningful paragraph.

The breadth of experimentation must be related to the degree of unknowability that confronts the firm.

F : But the goal is not just to develop perfect strategies that take us in the right direction and then,
progressively refine therm by rapid experimentation and adjustment.

2 : The more the experimentation, the faster a company can understand precisely which strategies are likely to
work.

E : We should spend less time working on strategy as a thing and more time working to understand the secret
preconditions that give rise to it

S : The best way to create wealth for employees and stockholders is 1o renew our cormrmitrment to developing
and executing innovative strategies.

Science is closing in on the deep secrets of our life; we must redouble our efforts to close in on the deep secrets
of corporate vitality.

Options:

1. ¥ OSPR
2 = PORS
= = SOFR
4 = RIQP

Question Number : 141 Question Id : 5459279635 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The sentences of a paragraph have beenl jurmnbled up, and labelled F, Q, R and 3. Select the option that gives
the correct sequernce in which these sentences should be rearranged to form a meaningful paragraph.

The breadth of experimentation rmust be related to the degree of unknowability that confronts the firm.

F : But the goal is not just to develop perfect strategies that take us in the right direction and then,
progressively refine thern by rapid experimentation and adjustment.

. The more the experimentation, the faster a company can understand precisely which strategies are likely to
wiorlk,

E : We should spend less time working on strategy as a thing and more time working to understand the secret
preconditions that give rise to it

S . The best way to create wealth for employees and stockholders is 10 renew our Cormmitiment to developing
and executing innovative strategies.

Science is closing in on the deep secrets of our life; we must redouble our efforts to close in on the deep secrets
of corporate vitality.

Options:

1. ¢ OSPR
2 = PORS
= = SOFR



4. % RSQP

Question Number : 142 Question Id : 5459279636 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
select the word that 15 closest in meaning SYHNONYM 6o the word given below.

ABATE
Options:

1. ® Increase
= ¥ Decrease
3. * Approve
4. ® Flexible

Question Number : 142 Question 1d : 5459279636 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that is closest in meaning SYHNONYM to the word given below,

ABATE
Options:

1. % Increase
2. ¥ Decrease
3. % Approve
4. # Flexible

Question Number : 143 Question Id : 5459279637 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that is closest in meaning SYHONYM 1o the word given belca.

FPERTURE
Options:

1. % Worry
2. % Happy
3. % Smart
4. % Fixed

Question Number : 143 Question Id : 5459279637 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
select the word that 15 closest in meaning SYHNONYM 6o the word given below.

PERTUERE
Options:

1. % Wworry
Z % Happv
3. % Smart
4. % Fixed



Question Number : 144 Question Id : 5459279638 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that is opposite in meaning ANTOMNYM to the word given balow,

ADJUNCT
Options:

1. ¥ Subtracted
2. % Aadded

3. # Fortune

4. % Forgive

Question Number : 144 Question 1d : 5459279638 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that is opposite in meaning ANTONYR to the word givern belomw,

ADJUNCT
Options:

1. % Subtracted
2. % added

Z. % Fortune

4. # Forgive

Question Number : 145 Question Id : 5459279639 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that 15 opposite i meaning ANTONYR to the word given below,

EFFACE
Options:

1. % Maintain
= % Uncertain
3. % Cease

4. % Destroy

Question Number : 145 Question Id : 5459279639 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that is opposite in meaning ANTOMNYM to the word given balow,

EFFACE
Options:

1. ¥ Maintain
2. % Uncertain
3. ® Cease

4. % Destroy

Question Number : 146 Question Id : 5459279640 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Select the word that is opposite in meaning ANTONYR to the word givern belomw,

LEFILE

Options:

1. % Smart

2. % Spend

3. % Contarrinate
4. % Purify

Question Number : 146 Question Id : 5459279640 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that 15 opposite i meaning ANTONYR to the word given below,

DEFILE

Options:

1. % Smart

= % Spend

3. % Contarrinate
4. ¥ Purify

Question Number : 147 Question Id : 5459279641 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Four words are giverl, out of which only one word is spelt correctly. Choose the correctly spelt word.

Options:

1. ¥ Accormmodation
2. % Acomrmodation
2. % Accormodation

4 % acomodation

Question Number : 147 Question Id : 5459279641 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
Four words are giverl, out of which orly one word 15 spelt correctly, Chodse the correctly Spelt word.

Options:

1. % Accormmodation
= % Acormmmodation
3. % Accomodation

4 % acomodation

Question Number : 148 Question Id : 5459279642 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Four words are giverl, out of which only one word is spelt correctly. Choose the correctly spelt word.

Options:
1. % Guillotine

2 % Guliotine

= % Guilotine



4. % Gulliotine

Question Number : 148 Question Id : 5459279642 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Four words are giverl, out of which only one word 15 spelt correctly, Choose the correctly spelt word.,

Options:

1. ¥ Guillotine
2. % Guliotine
3. #® Guilotine

4 % Gulliotine

Question Number : 149 Question 1d : 5459279643 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Four words are giverl, out of which only one word is spelt correctly. Choose the correctly spelt word.

Options:

1. % Lurminescence
2. % Luminescine
3. # Lurriniscens

4. % Lurninesense

Question Number : 149 Question Id : 5459279643 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Four words are giverl, out of which only one word 15 spelt correctly, Choose the correctly spelt word.,

Options:

1. % Lurminescence
2. # Lurrinescine
2. # Luminiscens

4 # Lurninesense

Question Number : 150 Question Id : 5459279644 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the option that best expresses the meaning of the idiom or phrase given below.

To accept the gauntlet
Options:

1. % Tobe furious

2. %* Totry hard

2. % To take reckless risks

4. % Toaccept or respond to a challenge

Question Number : 150 Question Id : 5459279644 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the option that best expresses the meaning of the idiom or phrase giverl below.

Toaccept the gauntlet



Options:

1. % Tobe furious

Z % Totry hard

3. % To take reckless risks

4. % To accept or respond to a challenge

Question Number : 151 Question Id : 5459279645 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
select the option that best expresses the meaning of the idicm or phrase giverl below

To turn the cover

Options:

1. % Tobe quick

= ¥ To pass the Crisis

2. * Tostop talking and start
4. % Tokeep out of debt

Question Number : 151 Question Id : 5459279645 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the option that best expresses the meaning of the idiom or phrase giverl below.

To turn the cover

Options:

1. % Tobe quick

2. % To pass the crisis

2. % Tostop talking and start
4. # Tokeep out of debt

Question Number : 152 Question Id : 5459279646 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the option that best expresses the meaning of the idiom or phrase giverl below.

To strike one's colours
Options:

1. % To surrender

2. % To be victorious
3. % Tolisten carefully

4. % Tomake a guess

Question Number : 152 Question Id : 5459279646 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
select the option that best expresses the meaning of the idiom or phirase giverl belosw,

To strike one's colours
Options:
1. ¥ To surrender



2. % To be victorious
3. % Tolisten carefully

4. % Tormake a guess

Question Number : 153 Question Id : 5459279647 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate 'orne word ! for the EXPIEsSIoNSs giverl below,

A person appointed by two parties to solve a dispute
Options:

1. % Arbitrator

= Asrcetic

3. % Atheist

4. % Amateur

Question Number : 153 Question Id : 5459279647 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
select the most appropriate 'one word ! for the ERPIessions giverl below,

A person appointed by two parties to solve a dispute
Options:

1. ¥ Arbitrator

2. % Ascetic

3. % Atheist

4 % Amateur

Question Number : 154 Question 1d : 5459279648 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate 'one word ' for the expressions given below,

A& strong and fast-moving stream of water or other liquid
Options:

1. ¥ Harnlet

2. % Posse

3. % Current

4 % Torrent

Question Number : 154 Question Id : 5459279648 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate 'orne word ! for the EXPIEsSIoNSs giverl below,

A strong and fast-moving stream of water or other liquid
Options:

1. ® Hammlet

= # Posse

3. % Current



4. % Torrent

Question Number : 155 Question Id : 5459279649 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
select the most appropriate 'one word ! for the EXPIEsSI0NSs giverl below.

& collection of weapons and military equiprnent
Options:

1. % Arena

2. ¥ Arsenal

2. % Archives

4. % Creche

Question Number : 155 Question 1d : 5459279649 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
select the most appropriate 'one word ! for the ERPIessions giverl below,

& collection of weapons and military equiprnent
Options:
1. % Arena

oW Arsenal
=2 % Aprchives

4 # Zreche

Sub-Section Number: 2
Sub-Section Id: 545927573
Question Shuffling Allowed : Yes

Question Id : 5459279650 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)
Juestion Label | Comprehension

Read the passage carefully and answer the given questions.

Miss Martha Meacham kept the little balkery on the corner ithe one where vou go up three steps, and the bell
tinkles whern you open the door). Miss Martha was forty, her bank-book showed a credit of two thousand
dollars, and she possessed two false teeth and a sympathetic heart. Many people have married whose chances
to do so were mmch inferior to Miss Martha's.

Turd Or three firmes a weele 3 Custorrer came in whorr she began to talee an interest. He was a middle-aged
mar, wearing spectacles and a brown beard trimmed to a careful point. He spoke English with a strong
Gerrman accert. His clothes werse worn and darned in places, and wrinkled and baggy in others. But he looked
neat, and had very good manners. He always bought two loaves of stale bread. Fresh bread was five cents a
loaf Stale ones were two for five, MNever did he call for anything but stale bread. Cnce, Miss Martha saw a red
and browr stain on his fingers. She was sure then that he was an artist and very poor. No doubt he lived in a
garret, where he painted pictures and ate stale bread and thought of the good things to eat in Miss Martha's
bakery. Often when Miss Martha sat down to her chops and light rolls and jam and tea she would sigh, and
wish that the gentle-mannered artist might share her tasty meal instead of eating his dry crust in that
draughty attic. Miss Martha's heart, a5 vou hawve been told, was a sympathetic one.

Sub questions



Question Number : 156 Question Id : 5459279651 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wiss Martha was _________ wears old.
Options:

1. ¥ thirty

= ¥ forty

3. % fifty

4. % thirty-five

Question Number : 157 Question Id : 5459279652 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which among the following staternents are not true about Miss Martha?

Options:

1. % sShe owned a little bakery

2. % Her bank-book showed a credit of one thousand dollars
3. # She possessed two false testh

4. % She had a sympathetic heart

Question Number : 158 Question 1d : 5459279653 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The custorner who carme two or three tirmes a weel had a strong accent.

Options:

1. % French
Z % Chinese
2. ¥ German

4. % Indian

Question Number : 159 Question Id : 5459279654 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What was the price of the stale bread?

Options:

1. ¥ Two for five
2. % Five for one
3. ® Three for five

4 % Siy for two

Question Number : 160 Question Id : 5459279655 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Why did the customer buy stale bread?

Options:
1. ¥ He was poor and stale breads were cheaper.
2. % He used to buy thern for his dog.

3. % He loved the taste of it



4. % He was an artist and artists preferred stale bread

Question Id : 5459279650 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)
Cuesticon Label | Comprehension

Read the passage carefully and answer the Siven questions.

Miss Martha Meacharn kept the little bakery on the corner ithe one where vou 2o up three steps, and the bell
tinkles when vou open the door). Miss Martha was forty, her bank-book showed a credit of two thousand
dollars, and she possessed two false teeth and a syrmpathetic heart. Many people have married whose chances
t0 do 50 were much inferior to Miss Martha's.

Tweo Or three tirmes a week a custormer came in whormn she began to talke an interest. He was a rmddle-aged
mari, wearing spectacles and a brown beard trimmed to a careful point. He spoke English with a strong
German accent. His clothes were worn and darned in places, and wrinkled and baggy in others. But he looked
neat, and had very good manners. He always bought two loaves of stale bread. Fresh bread was five cents a
loaf. Stale ones were two for five Never did he call for anything but stale bread. Ornice, Miss Martha saw a red
and browrl stain on his fingers. She was sure then that he was an artist and very poor. Mo doubt he lived in a
garret, where he painted pictures and ate stale bread and thought of the good things to eat in Miss Martha's
bakery. Often when Miss Martha sat down to her chops and light rolls and jarm and tea she would sigh, and
wish that the gentle-mannered artist might share her tasty meal instead of eating his dry crust in that
draughty attic. Miss Martha's heart, as you hawe been told, was a sympathetic one.

Sub questions

Question Number : 156 Question Id : 5459279651 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Miss Martha was _________ vears old.
Options:

1. * thirty

2. ¥ forty

3. % fifty

4. % thirty-five

Question Number : 157 Question Id : 5459279652 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which among the following staterments are not true about Miss Martha?

Options:

1. * She owmed a little bakery

2. % Her bank-book showed a credit of one thousand dollars
2. % She possessed two false teeth

4. % She had a sympathetic heart

Question Number : 158 Question Id : 5459279653 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The custorner who carne two or three times a week had a strong ________ aCCent.
Options:

1. ®* French

2. % Chinese

3. % German



4. % [ndian

Question Number : 159 Question Id : 5459279654 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What was the price of the stale bread?

Options:

1. ¥ Two for five
2. % Five for one
3. ® Three for five

4 % Siy for two

Question Number : 160 Question Id : 5459279655 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Why did the customer buy stale bread?

Options:

1. % He was poor and stale breads were cheaper.
2. % He used to buy thern for his dog.

3. % He loved the taste of it

4. % He was an artist and artists preferred stale bread

eneral Hindil

Group Number : 9
Group Id: 545927479
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Hindil

Section Id : 545927479
Section Number : 1

Section type: Online
Mandatory or Optional: Mandatory
Number of Questions; 20
Number of Questionsto be attempted: 20

Section Marks: 20
Display Number Panel: Yes
Group All Questions: No



Sub-Section Number: 1
Sub-Section 1d: 545927574
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 5459279656 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TteET v # o Bwedt § & 39 Swew @1 a9 o A1 ey o a5t |t Tede & 9t @ agt Baer gh

gl + ST
Options:

1. % sfgrarg
2. ¥ Hgg
3. % agg
4 ¥ gy

Question Number : 161 Question Id : 5459279656 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
Tt na & o Seedt § & 39 Sy o7 =2 o6 = iy 1o a8t 9ty Hea & 9 e a8 Beew g

3T + &g
Options:

1. % apgreig
2. ¥ Hgrg
2. % yrgHe
4 ® gz

Question Number : 162 Question Id : 5459279657 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR ng #, oW Awedt § 9, 39 Aoy @ 909 & 91 150 T Seg & 951 90 Teeg @7 Tded gn

STTErETaT

Options:

1. % arfer + =

o, % aeEEm + T
3. o arfEE sl
4. % afer +

Question Number : 162 Question Id : 5459279657 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TamET wr # ar Twent # € 39 Twen w1 o0 w8 =1 Ty 10 seg ¥ 99t 91 Bede @ Awer En
STTErRTaT

Options:

1. % arfer + @

2. % ey + a7

3. ¥ arfEe+ sl



4 % arfey + g

Question Number : 163 Question Id : 5459279658 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TEeET vg H, oR THweat # 9, 39 Twew #7909 % A Gga=e 9T #1981 9w 8l

Options:

1. % 1

o % o
3. % gHT
4 T

Question Number : 163 Question 1d : 5459279658 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

et g 8, o et # &, 39 ey =7 o 23 1 Sggars 9T # 91 @y 5l
Options:

1. %

2 % dlgd

2 % gHEr

4. & =T

Question Number : 164 Question Id : 5459279659 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TafeRET v 8, o el # 4, 39 ooy =7 g9 & T #iew § 130 77 9eg & oIgan 19 & 9% &7 de1 fdeed 21

(1) SITET HTH FAIT (@T) JEERTE TTII
Options:

1. ¥ HeEEE daaH

2. ¥ afvpaTEEd e

3. % mEgrEE qd-d

4. % e arEd Aa-rd

Question Number : 164 Question Id : 5459279659 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ey v, o Swedt 8 €, 39 Swed #7939 3% S S15® # T30 77 958 F SR Ta-70 o 9 #T a5 [deed 5

(STT) SFWT FTH FIT (FT) EEFT T
Options:

1. HaeEEE gdaH

2. % arfemoEE adam

2. ® ygdwEew gaamd

4. ¥ Tegg I=EF GoATA

Question Number : 165 Question Id : 5459279660 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Tty v §, ox Seedt 0 ¥, 39 Swey @7 o9 o 1 @isw # oy 77 e & g e @ g gt fowed g

(eT=T) 31T et 1 2 i
Options:

1. ® g

2. ¥ giramTaREE

3. % qEEw
4 % g

Question Number : 165 Question Id : 5459279660 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TrafefaT na §, on Oweat # 9, 39 ey =7 gom & 1 wivw § 50 77 g5 & argan ferdwo & 9 o fEwed gn

(2TTST) T TS T T
Options:

1. % FEgEmEE

2. ¥ qiHaEE

3. ® UERESE

4. ® gEATHE

Question Number : 166 Question Id : 5459279661 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TEmET vg #, or et # 4 39 Been o7 209 @ S B T ge % uaiaar’ geg @1 @R dwed T8l 8

AT
Options:

1. % =g
2 it
2 ® g

4. ® Mz

Question Number : 166 Question Id : 5459279661 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TateT v # ow Bwedt § 9 39 Swen @1 =749 o At =y 7 seg ¥ vafaamdt seg @ agt Heer =gt 3

AT
Options:

1. % &g
2. & FHifdr
3 %\

4 % ME

Question Number : 167 Question Id : 5459279662 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR mg # ow Awedt § 9, 39 ey @ oaq @ S 150 T Seg, F Taiaame Seg %7 50 [deed "51 8l

STEEA



Options:

1. % argdies
2. % T
3. ¥ e
4. % aEAET

Question Number : 167 Question Id : 5459279662 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TafaET vg # or et # € 39 Been o1 229 @ 1 iy 70 geg % uaiaart g @1 @Rt e 51 8

eI
Options:

1. % argdies
2. I
3. g
4 ® aEEEd

Question Number : 168 Question 1d : 5459279663 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TaEET v §, o et § §, 39 Seen o1 =709 o A1 G0 0 see & TR a=g @ anr Hwed 2

mgr

Options:

1. ¢ =g
2 ® fagw
2% B

4. % FEid

Question Number : 168 Question Id : 5459279663 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T ng ®, oW fwedt § 9, 39 Hwed &7 949 & A1 150 77 seg F B Jeg @7 d57 Tded 3

mg

Options:

1. ¢ Fgi
2. % FoEmor
3% B

4. % Fgid

Question Number : 169 Question Id : 5459279664 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TafaET g # or Teet # 9 39 B &1 909 3 1 iy 70 g & TTEW seg @ @t Heed B

AT
Options:
1. % arfirr



2. % aiiy

3 % AT
4 Tt

Question Number : 169 Question Id : 5459279664 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TafeT v #, o Sweul § 9, 39 [9we0 &1 =909 ¢ A1 o0 M0 s & oA Jeg 91 951 9@ 21

I
Options:

1. % arffar
o % i
= % g
4, o Ty

Question Number : 170 Question Id : 5459279665 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TafeaT v , o Swed! 8 €, 39 951 Hweq &7 999 w91 180 77 Jeg- W & o o gl HweT 51

ST aTaAy

Options:

1. % sfaeserar % e =T
2. % {AE T A=A

3. ¥ e S AT R

4, % e o AR

Question Number : 170 Question Id : 5459279665 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TEmET vg |, ox Hweat # €, 39 951 SweT &1 oad F A1 TS0 M7 dJeg-gr & o @ 9nt fdwed g1

AT - &7

Options:

1. % aesgedr o STt
2. % HATE o AT

Z. ¥ @ 3T AT

4, % e o AT

Question Number : 171 Question Id : 5459279666 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e vg | o Bwedt § 9 39 Swen @1 a9 o At =g o areriy & T ow aeg @ agt Reed 1

ST SHTeRT AT
Options:

1. %® amaieia

2. AT

3. ® aMErEn



4 % g

Question Number : 171 Question Id : 5459279666 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TafaET vg # or et # 9 39 e &1 o0 o A1 oy Ty aeiy & T Ow g @ el ey 81

STTAearT SiaeeT e
Options:
1. % awieH®

2. ¥ g
3% SR
4. g

Question Number : 172 Question Id : 5459279667 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT ng # or Twet # 9 39 987 B @ goe w9 S o v & Ty ke Heer gt

Options:

1. v geq
2. % Uy
3 & Oy
4. * OFg

Question Number : 172 Question Id : 5459279667 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT v §, O Seen # °, 39 9nf D@ &7 9o B A1 e wre & W0 IR Heen gt

Options:

1.« geq
2. % g
3 % gem
4. % OEY

Question Number : 173 Question Id : 5459279668 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR ng H, oW Hwedt § 9, 39 Towed @1 999 @ A1 150 7 seg & aATEd deg @ Haed T51 o)

Ll

Options:

1. % mEfaer
2 ¥ amT
3. % g
4, FInd



Question Number : 173 Question Id : 5459279668 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT v or Teent # 4 39 Heey @ 20T w1 1 Ty T e & aemeEt geg @ Been a5 8l

Rl
Options:

1. % meiee
2 ¥ arfvmT
z. % g
4. ® FIug

Question Number : 174 Question 1d : 5459279669 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ot v #, ox Seedt 8 ¥, 39 951 Daey &7 go- w1 Tos w0 F o0 Suaw Jeg #7951 [deed gl

Options:
1. %7
2. %I
3 % @r
4 v

Question Number : 174 Question Id : 5459279669 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
Tty va §, ox Beedt 8 9, 39 951 TawT &7 g9= = 91 Top v & o0 Suaw g #7951 [deey gl

Options:
1. %9
2 %I
3 % o
4 7

Question Number : 175 Question Id : 5459279670 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TafeRaT ne 8, o el # 9, 39 ooy 7 9o & 57 §g o8 ®1 d51 [d@ed a1

Options:

1. ® Hgtedty
2. ® gEgaray
3. ¥ "gEETy
4. % qyEAey

Question Number : 175 Question Id : 5459279670 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TEmET vg H, oR Hweat # €, 39 HweT o o9 B A1 G T #1951 wwed o)



Options:

1. % Hgtearg
2. % HEedrEy
3. ¥ "geETg
4. % HEEHEg

Question Number : 176 Question Id : 5459279671 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T ng H, Ox Tweat # €, 39 TmeT &7 o9 @ AT G5 IiedT arar 9eg gl

Options:

1. ¢ "o
2. % IR
. % [y
4 % gie

Question Number : 176 Question Id : 5459279671 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TafeTET mg §, o fdeeal § 7, 39 fowew &7 =2 @ S 8T GieeT arer 95 3

Options:

1. qar
= % ST
3. % Ay
4. % FioA

Question Number : 177 Question Id : 5459279672 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR ng #, oW et # 9, 39 Hwed &1 o0 & S [0 T g %7 S0 feg 9167 f9hed gl

)
Options:

1. % a7
= % ghea
3 % ghg
4. ¥ g1

Question Number : 177 Question 1d : 5459279672 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR wg o, I T 8§ °, 39 See @7 =9 o A1 150 M7 sfeg, &7 ST 9= a1 e 2

)
Options:

1. % a7
2. % gha
3 % ghg
4 ¥ gg7



Question Number : 178 Question 1d : 5459279673 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TrafeiaT ng §, ow Oweat § 6, 39 [9wen @1 a9 & 1 927 Uk Jeg, #1 Gad S78T [d@med )

Options:

1. % 3gm

E

3. ¥ gt

4 % aaffaie

Question Number : 178 Question Id : 5459279673 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
THeET ng H, oW et § 9, 39 dwed @7 949 S 987 Uhad Je8 BT Gai 9T fHded gl

Options:

1. % gm

2. % 3

2. ¥ ol

4 ® gmsfats

Question Number : 179 Question 1d : 5459279674 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tl nd o, o deedt § &, 39 fSwer @7 a9 w9 18 17 6T & agaa qeg F He seuT ey gl

T
Options:

1. % Tems
2. & Ty
3. % Tt
4. % amEt

Question Number : 179 Question Id : 5459279674 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TateTET wer #, I et # 8, 39 Towey &7 20 % S I8 70 958 & aga deg B d6d sk fHwe 3]

=T
Options:

1. % e
2 o T
3. ® e
4 % ermat

Question Number : 180 Question Id : 5459279675 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T g §, IR et § 9, 39 Swey @1 o2e w1 S @ ee § 79U 10 Jeg & SIE 2l Yo J=w GdqTH 9 |E Hwed gh

Options:



1. (< AT ) AT AT e g
2. % () g ATTETE

3. % (HA) TR Aga A T Bl
4. ¥ (qW) St

Question Number : 180 Question Id : 5459279675 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T vg 8, ox Hweat # €, 39 Teer &7 oad w0 F1 e § TG0 77 95T & SgER S [P arH® Ga-Td ® el idwed gh
Options:

1. & (& @) adt AT s gim

2. % (H) g SATETE]

2. % (W) oI Agd W T g

4 % (qH) Aeal w0
eneral Hindiz
Group Number : 10
Group Id: 545927480
Group Maximum Duration : 0
Group Minimum Duration : 120
Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Ceneral Hindiz
Section Id : 545927480
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 16
Number of Questionsto be attempted: 16
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section 1d: 545927575
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 5459279676 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



TteeT v #, o Bwedt § & 39 Swew @7 =49 o A1 ey T are & @ & S @ det Ewer g
T 7 I T

Options:

1. ® TqRd #E ga@Te

2. ¥ i e

3. % sl qaae

4 % FIEdue Wi ®a

Question Number : 181 Question Id : 5459279676 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o mg #, oW fwedt § 9, 39 Towed @71 a9 & 1 187 7 a1 & @ & 9 &1 agl awed 5

EIUT F FE T

Options:
1. ® Fqed 7S Y@
2. ¥ quf yETe

3. % syl aene
4 % RS Wi F1a

Question Number : 182 Question Id : 5459279677 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT vg # or Twent # 4 39 Beew o7 =09 @ S Ty T are & TR0 g & O 9 Te SmET HweT B

GHT TR 51 T 21
Options:

1. % feoef
2. % gt
= % mHagmf
4. & gt

Question Number : 182 Question Id : 5459279677 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TaEET v §, T Teen § §, 39 oo @7 =T o A1 50 M7 a1 & W0 g % 9T 9 9 2ReT Hwe 2

AT AT T 0 2

Options:

1. % forezef

2. % wargref

3. % wagwf

4, ¥ Toeaamet

Question Number : 183 Question 1d : 5459279678 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



TteET v # o Bwedt § & 39 Swew @1 =9 o A1 2w o ame & TR iy & AT @7 gee SRET e 3

37 AiearaT qed T gi= @i 2
Options:

1. ¥ @I

2. % eaawEias

3. ® puideras

4. ARVEaE

Question Number : 183 Question Id : 5459279678 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T ng ®, oW et § 9, 39 Hwed &7 a9 ¢ S 120 70 ane & o0 oy & 9T 9 de SRET [ o)

37 AiearaT aed | gi= @A 2
Options:

1. ¥ \EaereE

2. % fraaEia®

3. ® paiiderds

4. FRETE

Question Number : 184 Question Id : 5459279679 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T faeredt # & TS amgaw e uivad 1 @ fdwed gi=m

AT Teeelt < 75t & (wHara)
Options:

1. % gt ear m

2. % Tmel AT g

3. ¥ AET SR ere ! AT AT T
4. ¥ Tewelt ATt < e g

Question Number : 184 Question Id : 5459279679 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Ty et # & A emga g wited T &1 e g
AT TEwel ST R g (AT

Options:

1. ® gt fomar m

2. % Tt AT I

3. ¥ AET SR ra! AT ST T
4. % Tewelt ATl < e g

Question Number : 185 Question Id : 5459279680 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Tt ng § o Bwedt § & 39 Swew @7 a9 o A1 "5t a9 9 @7 Heer g

Tl TH - AT
Options:

1. % iy o

2 % Hgm awr

% ® A= e
4 ¥ WA g

Question Number : 185 Question Id : 5459279680 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TrafeiaT ng |, ow Oweat § & 30 9wy &1 o099 & A1 951 a9 dg @7 [dwed g

Tl TH G AT
Options:

1. % T amg

2 % ggm aEg

3. ® A g
4 ¥ WA g

Question Number : 186 Question Id : 5459279681 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TfeiaT ng | ow Owedt § 7, 30 9wy 1 o9 o AT 95t a9 98 #7 TweT g

AT HE = FAT &, 9% A9 FF U7 Tl gl
Options:

1. % Hgw aer

o T A

3. ¥ HigdmEd aag

4. % FHTaEE aT

Question Number : 186 Question Id : 5459279681 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T ng & aw et § 9, 39 Heew @1 209 ¢ 91 931 a9 95 #7 @7 50

AT HEAT FAT 5, 9% A FF U7 qFAT gl
Options:

1. % Hgm aer

2. o Ty aa

3. ¥ Higdaw aag

4. ® FpFoT=E amd

Question Number : 187 Question Id : 5459279682 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Tt ng § o Bwedt § & 39 Swew @7 a9 o A1 "5t a9 9 @7 Heer g
FIEEC GO R e R

Options:

1. # {Sreraare ame
2. ® T g

% % Ty aeE

4 & HgH G

Question Number : 187 Question Id : 5459279682 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T ng |, oW et § 9, 39 Tooed @7 =9 T A1 Gg1 a9 @7 d@ed 5N

Sy 78 g gt v 7 A o
Options:

1. % fSrermaaree g

o % A g

3. % o

4 qgE qEd

Question Number : 188 Question Id : 5459279683 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TafeRET na 8, o el # 4, 39 owew @7 gom & =1 Ty o 9% o 7 981 fa@ed 20

Options:

1. % S o e Aft o, MU ST 1 A & a e an
2. % Ferr AT g ot a1 Wy T oy & G et ad
3. e 3T A ST, T T S aeE e e
4. % Qe 3T e A S G e S ae @ e

Question Number : 188 Question Id : 5459279683 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ot va . ox Bt § 9, 39 Swey @ o9 = 1 foom g g% a9 @7 ag! e gn

Options:

1. % e ot gE ot o, VUi e T aE @ A e i
o % e AT ol a1 e g o A G et ad
3. Qe AT gt 4l ST, G T S e @ e
4. % ST T gEr o o T g e & S T

Question Number : 189 Question Id : 5459279684 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TafeRET na 8, o el # 4, 39 owew @7 gom & =1 Ty o 9% o 7 981 fa@ed 20

Options:

1. gg et & o off, 39 &= g1 e
o> % gy ameredt & e oft, 3@ o gt e
3 % oy et g1 o off, 38 & gl e



4, % gg smEredt 57 T ot 9 o gt e

Question Number : 189 Question Id : 5459279684 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e v . oR Bt # 9, 39 Twey @1 o3 % A1 fORm g g% 999 o7 gl ST &

Options:

1. o5 aETeft & T off, 39 o= A5t e

2. % gy et g e off, 39 war gt et
Z. % gg et B O ot 39w At A
4, % gg et g7 e o, 39 o= ARt ey

Question Number : 190 Question Id : 5459279685 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tty va /. ox Swedt 8 9, 39 Swey @1 099 o 9 fou 7 gerat & o |gt arf arar Hwe 2

ST TEAT
Options:

1. % ST ger
o % srfepiee
Z. ¥ g o AT
4 o AT

Question Number : 190 Question Id : 5459279685 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tty va #, ox Beedt 8 9, 39 Swey #7099 &% 91 fou 7y geret & o agt arf gt Seer 3

ST TEAT
Options:

1. ® ST ger
2. % ariEmieT
3. ¥ gaa # v
4. 9 AT

Question Number : 191 Question Id : 5459279686 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tl ng § o Beeut & 9, 30 Fwew o7 =90 w8 St 12y 77 gerat & @ a8t snef arar By 81
Options:

1. & arfeer o T

2. % gE g

3 ® gl g

4, ® i gEar

Question Number : 191 Question Id : 5459279686 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
e v . o Ewedt 8 9, 39 ey %7 o3 3 7 150 7 geTa & oy |gt arf arar Hewed 2

Options:

1. & aféer o AT
2. ® g g

3. % AR g

4, % i gear

Question Number : 192 Question Id : 5459279687 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TamET vg |, ox Hweat § €, 39 Swer o1 oad @ A1 T Ty gere & B a5t arf arar e 2l

T & ATEE 5T
Options:

1. % "R

2. o WITET 5T

% % gt TEET A
4. ® ToT il HH FLAT

Question Number : 192 Question Id : 5459279687 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
Tty va §, ox Beedt 8 9, 39 Twey #7099 =% 91 fou 7y gerat & o agt anf ot Teer 3

T & ATET F AT
Options:

1. % AT

2, o FTT 5T

3. % grar T A
4. % T @i WA FAT

Question Number : 193 Question Id : 5459279688 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TofafET ng & ow et § 9 39 Heew &7 a9 w8 91 31 T fw i & o agt arf @ e &
AT ot oty

Options:

1. % gEaam

2. ¥ 3o g SEET

=, o gt aow & TEf s
4, % el g

Question Number : 193 Question Id : 5459279688 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



TafeET ng | o Bwedt § & 39 Swew o7 =4 o A1 31 e Atw it & T agt anf amer Beer 2

ST rart Ui |

Options:

1. % ggaam

2, % aEF O 9 ARET

=, o TRl aeE & TS amr
4, % il g

Question Number : 194 Question Id : 5459279689 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR ng #, oW fHwed! § 9, 39 Towed &1 909 T 1 ol T8 A s & o] Tn1 arf aTar e 8

29T =T & 54T

Options:

1. % Fofa= 8T A g e

2. ¥ 3ET oOt |gT ST FeaT g
3 % FeE T

4. % 7T UiedH wH B

Question Number : 194 Question Id : 5459279689 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TEmET vg # gr et # 4 39 ey @7 209 @ S 3T TE AreiiE & T aer erf arer Hee 2

ST =T ST BT

Options:

1. % g # el A g

2. ¥ 3ET Ot Aal [SEeT wear s
3. % dege g

4, % arfEey Uierd &0 B

Question Number : 195 Question Id : 5459279690 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T ng & o Bwedt § 9 39 99t Heed @7 oo w1 S e Al & B agt et e Bee f1

AT iy e

Options:

1. Tt &fia T, 39 @ ST aTEy
2 % e e AT

3. ® g ot e g

4 ® Tt & oft agaT 7 w0

Question Number : 195 Question Id : 5459279690 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR ng H, oW fwed! § 9, 39 Aa1 TIwed @7 a9 ¢ A1 o T8 ATwIrs & o] 51 35f araT ey 21

Frer a1 T



Options:

1. ST Sl T, 39 g ST ARy
2. % e g AT

5. % g ot g g

4, % Tt & T agaT T Fr

Sub-Section Number: 2
Sub-Section 1d: 545927576
Question Shuffling Allowed : Yes

Question Id : 5459279691 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)
Cestion Label | Comprehiension

Tl Ty T TR W e U oY 0 W Haiad Ja7 ol

T 1 g1 TErmaT & Tor <fiay Uar ammary of /a9 8, 39 190 & i §ART 2Tieed & ST &fF # 39 @59 &1 W & o047 §HRT
Teri STTE T 81 56 WOTE 249 a5 & AT ToF SITaRT &1 I&Ted - ol R8T BT 5 S TAGT 90 39 50H Thad| (Hed | 5, 95 56
T Tk SUET G T Wik il &, Fool THATHE SITRIT O 59 41 57 oF a7 # Zemed @& wiid o § R O o1, shefel A1
ﬁaﬁﬁaﬁfﬂﬁms‘rw wmﬁ%ﬁwwa%m &, 0¥ 59H UHE -3l TeAT 51 5, 5T % T
a1 51 8 A5 T E1 5 A1 39 TiET waT & oW amAT T @ 39 39 e gﬁaﬁﬂmaﬁmmﬁrj’—g
T T U 2T HGIE AT 51, Aiedr U AThTe ST U =61 5, T o &1 @ | a1 g0 95l
T4 W A1 S BT 5T HFE FAT OSdT & dTF 36 77ef & Ul 51 Ay agaﬁqw%am—crﬁia'gqﬁﬁa:rﬂﬂ
qm%%ﬂfrmﬁ%aﬂ?mﬁa&?ﬁﬂﬁaﬁ@qﬁaﬁﬁ el T, SHET UTA BT £ 19T &, Falier el Agsal & giided s faid
0w

Sub questions

Question Number : 196 Question Id : 5459279692 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T 1 Zai-1 TorT 715 7 37T g a1 a7

Options:

1. % xormef &1 WTIE 1€ o047

2. % el oF T UFETE 51 AT

=, & ST T UF e AR UF Ay E
4. ¥ fdfgT gram

Question Number : 197 Question Id : 5459279693 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TET UTH e H W alrel] #4757
Options:

1. % fafae g

2. ® gl goq

3. % srgamegEaT

4. W FE @ AT

Question Number : 198 Question Id : 5459279694 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



STeT W UHHTT 540 747 57
Options:

1. % Sitfgel SRS AT
o ® fFfgT g

= ¥ g ST O AT
4 % EHEHGE AT

Question Number : 199 Question Id : 5459279695 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TTH O FIT - 9T T =g T UAiaaE S TRl 87

Options:

1. % gree
2. W TR
z. % e
4. ¥ FEag

Question Number : 200 Question 1d : 5459279696 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T ST W HIE JUgE d:
Options:

1. % g9

= % FrdifewdT

2 ® gogdrEeT

4, & AT gad

Question Id : 5459279691 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)
Cestion Label | Comprehiension

Tl Ty T TR W e U oY 0 W Haiad Ja7 ol

T 1 g1 TErmaT & Tor <fiay Uar ammary of /a9 8, 39 190 & i §ART 2Tieed & ST &fF # 39 @59 &1 W & o047 §HRT
Teri STTE T 81 56 WOTE 249 a5 & AT ToF SITaRT &1 I&Ted - ol R8T BT 5 S TAGT 90 39 50H Thad| (Hed | 5, 95 56
T Tk SUET G T Wik il &, Fool THATHE SITRIT O 59 41 57 oF a7 # Zemed @& wiid o § R O o1, shefel A1
ﬁaﬁﬁaﬁfﬂﬁms‘rw = IUATSH H STeT T 27 ey %ﬂﬁﬁﬁ‘?ﬂ‘f%—m et T oEf aw T
a4t '%aga&hg ST TafeT aaT & o T e & 3% 39 oW ° gik TgamaT &, S Faref g a4 &
T T U 2T HGIE wmﬁaﬁwﬁmmwmm,ﬁ%wﬁ@qﬁﬂﬁ el
T4 W A1 S BT 5T HFE FAT OSdT & dTF 36 77ef & Ul 51 Ay agaﬁqw%am—crﬁia'gqﬁﬁa:rﬂﬂ
qm%%ﬂfrmﬁ%aﬂ?mﬁa&?ﬁﬂﬁaﬁ@qﬁaﬁﬁ el T, SHET UTA BT £ 19T &, Falier el Agsal & giided s faid
0w
Sub questions

Question Number : 196 Question Id : 5459279692 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T 1 Zai-1 TorT 715 7 37T g a1 a7
Options:

1. % zroref T OTIE & o1

2. % el oF T UFETE 51 AT



=, & ST T UF e AR UF Ay E
4. ¥ fdfgT gram

Question Number : 197 Question Id : 5459279693 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TET UTH e H W alrel] #4757
Options:

1. % fafEe g

2. % zomef efiy

3. ¥ argamEng T

4. % FE W A

Question Number : 198 Question Id : 5459279694 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
STer T UFHTT 54 7T 57
Options:

1. % g s weT

o % i g

3. ¥ sk SrgaTe I FaAT

4 % EHHEH AT

Question Number : 199 Question Id : 5459279695 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TAH | W - AT T deg W UG Meg A1 57
Options:

1. % gread

2. ¥ TR

3. ¥ armmr

4. % FEaT

Question Number : 200 Question Id : 5459279696 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T et W HIE JUgE S
Options:

1. % gdg

2 ® gt

z. ® gog ol g

4 & gudtg gda




